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1. Answer: (d) Neither 1 nor 2 
Explanation: 

● The Arthashastra advocates a highly 
centralized administrative system, not 
decentralized governance (Statement 1 is 
incorrect). 

● Megasthenes' Indica describes Chandragupta 
Maurya's reign, not Ashoka's Dhamma 
(Statement 2 is incorrect). 

 
 

2. Answer: (d) Stressing personal devotion and 
challenging caste hierarchies. 
Explanation: 
The Bhakti Movement emphasized direct devotion 
to God (personal devotion) and often rejected rigid 
caste systems. It used regional languages, not just 
Sanskrit, to connect with the masses. 
 

3. Answer: (b) Iqtas assigned revenue collection 
rights to officials, but the land remained state 
property. 
Explanation: 
Under the Iqta system, the Sultanate assigned 
officials (Iqtadars) the right to collect revenue 
from designated territories in return for 
administrative and military services. The land 
itself remained under the ownership of the state, 
and these assignments were generally non-
hereditary and subject to periodic reassessment. 
 

4. Answer: (c) Both 1 and 2 
Explanation: 
 Statement 1 is correct: The movement was 
triggered by the 1919 Jallianwala Bagh massacre 
and the Khilafat issue, which sought to unite 
Hindus and Muslims. 
 Statement 2 is correct: The Ali brothers played a 
key role in the Khilafat Movement and allied with 
Gandhi, helping mobilize mass participation in the 
Non-Cooperation Movement. 
 

5. Answer: (d) Odissi – Temples of Karnataka 
Explanation: 
Odissi originated in Odisha's temples, not 
Karnataka. Bharatanatyam is from Tamil Nadu, 
Kathak from Mughal courts, and Kuchipudi from 
Andhra Pradesh. 

 
6. Answer: (b) Is India’s first clock to display time as 

per the ancient Panchang system. 
Explanation: 
The clock in Ujjain displays time based on Vedic 
astronomy (Panchang), aligning with planetary 
positions and traditional Indian timekeeping. 

 
7. Answer: (a) 1 only 

Explanation: 

● The ECI is established under Article 324 
(Statement 1 is correct). 

● Its decisions are subject to judicial review 
(Statement 2 is incorrect). 

 
8. Answer: (a) Only on the advice of the Prime 

Minister. 
Explanation: 
The President acts on the aid and advice of the 
Council of Ministers (Article 74). Discretionary 
powers are limited to rare constitutional crises. 
 

9. Answer:  (b) 2 only 
Explanation: 
 Statement 1 is incorrect: Kerala, in its 2025 
budget, became the first Indian state to establish a 
dedicated Future Department. 
 Statement 2 is correct: The department is 
designed to focus on long-term strategic planning, 
technology foresight, and policies to prepare the 
state for emerging challenges and opportunities. 
 

10. Answer: (c) Both 1 and 2 
Explanation: 
 Statement 1 is correct: India’s first PFBR is 
located at the Indira Gandhi Centre for Atomic 
Research (IGCAR), Kalpakkam, Tamil Nadu. 
 Statement 2 is correct: Fast Breeder Reactors are 
capable of producing more fissile material than 
they consume, enhancing fuel efficiency and 
contributing to long-term nuclear energy 
sustainability. 
 

11. Answer: (d) They are poor in nitrogen but rich in 
calcium and magnesium. 
Explanation: 
Black soils (Regur) are deficient in nitrogen and 
phosphorus but rich in lime, iron, and magnesium. 
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They are best suited for cotton cultivation (not 
rice) and form from basaltic rock under semi-arid 
conditions. 
 

12. Answer: (d) Neither 1 nor 2 
Explanation: 

● The focus is the underground origin point of 
an earthquake (Statement 1 reverses 
definitions). 

● The epicenter is the surface point above the 
focus (Statement 2 incorrectly reverses the 
relationship). 

 
13. Answer: (c) Hydrogen bonds between 

complementary base pairs 
Explanation: 
DNA strands are linked by hydrogen bonds 
between base pairs (A-T and C-G). Covalent 
bonds form the sugar-phosphate backbone, while 
disulfide bridges stabilize protein structures. 
 

14. Answer: (b) Fragmented landholdings and small 
farm sizes 
Explanation: 
Uttar Pradesh faces land fragmentation due to 
inheritance laws, leading to uneconomical farm 
sizes (average <1 hectare). This limits 
mechanization and economies of scale. 
 

15. Answer: (a) 1 only 
Explanation: 

● Ramlila of Ramnagar is a UNESCO 
Intangible Cultural Heritage (Statement 1 
correct). 

● Bhatkhande Institute is in Lucknow, not 
Varanasi (Statement 2 incorrect). 

 
16. Answer: (b) Regulate international trade of 

endangered species 
Explanation: 
CITES uses a permit system to ensure trade 
doesn't threaten species' survival. It regulates 
rather than bans trade (e.g., allowing sustainable 
trade in some species). 
 

17. Answer: (a) Retting 
Explanation: 
Retting involves soaking jute stems in water to 

loosen fibers by microbial action. Ginning is for 
cotton, while spinning/weaving are post-fiber 
extraction processes. 
 

18. Answer: (a) Control inflation while supporting 
growth 
Explanation: 
MPC's mandate under the RBI Act is to maintain 
price stability (inflation target: 4% ± 2%) while 
considering growth objectives. Exchange rates are 
managed separately. 
 

19. Answer: (b) Article 165 
Explanation: 
Article 165 provides for the Advocate General as 
the state's highest law officer, analogous to the 
Attorney General of India (Article 76). 
 

20. Answer: (c) Discontinuous hills dissected by east-
flowing rivers 
Explanation: 
Unlike the Western Ghats, the Eastern Ghats are 
broken and eroded by rivers like Godavari and 
Krishna, which originate in the Western Ghats, not 
the Eastern Ghats. 
 

21. Answer: (b) South Andaman and Little Andaman 
 Explanation: Duncan Passage divides South 
Andaman from Little Andaman. It should not be 
confused with the Ten Degree Channel, which 
separates Little Andaman from Car Nicobar in the 
Andaman and Nicobar chain. 
 

22. Answer: (d) Beas 
Explanation: The Beas begins near Rohtang Pass 
in Himachal Pradesh, flows through Punjab, and 
merges with the Satluj at Harike. Unlike Indus or 
Brahmaputra, it does not cross into neighboring 
countries. 

 
23. Answer: (b) High-altitude saltwater lake partly in 

India 
 Explanation: Pangong Tso lies at around 4,350 
meters, making it one of the highest saltwater 
lakes. Roughly 40% is in India, 50% in China, and 
the rest lies in disputed territory. 
 

24.  Answer: (c) 24° N 
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 Explanation: Close to the Tropic of Cancer, 24° N 
latitude runs through several Indian states. The 
Tropic itself crosses eight states, including 
Gujarat, Rajasthan, Madhya Pradesh, 
Chhattisgarh, West Bengal, Tripura, and Mizoram. 

25. Answer: (a) Tsangpo in Tibet and Yarlung in 
China 
Explanation: Originating from the Kailash Range, 
the river flows in Tibet as Tsangpo or Yarlung, 
enters Arunachal Pradesh near Sadiya, then 
continues into Assam and Bangladesh, where it 
joins the Ganga system. 
 

26. Answer: (c) Both 1 and 2 
Explanation: 
 Statement 1 – Correct: The PFBR is being set up 
at Kalpakkam, Tamil Nadu, under the Indira 
Gandhi Centre for Atomic Research. 
Statement 2 – Correct: It is designed as a fast 
breeder reactor, which consumes Plutonium-239 
but breeds additional fissile Uranium-
233/Plutonium-239, making it vital for India’s 
three-stage nuclear program. 
 

27. Answer: (a) 1 only 
Explanation: 
 Statement 1 – Correct: Judicial review allows the 
Supreme Court and High Courts to strike down 
laws or actions violating the Constitution. 
 Statement 2 – Incorrect: The Constitution does 
not expressly use the term "judicial review," 
though Articles 13, 32, 131–136, and 226 
implicitly confer this power. 
 

28. Answer: (b) Rain-fed and seasonal 
 Explanation: Peninsular rivers like Godavari, 
Krishna, and Kaveri largely depend on rainfall. 
They usually flow eastward into the Bay of 
Bengal, except Narmada and Tapi, which flow 
westward into the Arabian Sea. 
 

29. Answer: (b) 2 only 
Explanation: 
 Statement 1 – Incorrect: A money bill cannot be 
returned by the President; it can only be either 
assented to or withheld. 
Statement 2 – Correct: Under Article 74, the 
President generally acts on the aid and advice of 

the Council of Ministers, with limited 
discretionary scope. 
 

30. Answer: (b) 2 only 
Explanation: 
 Statement 1 – Incorrect: Fundamental Duties 
were added later by the 42nd Constitutional 
Amendment Act, 1976, not in the original 
Constitution. 
 Statement 2 – Correct: Fundamental Duties are 
non-justiciable in nature, though they act as a 
reminder to citizens. 
 

31. Answer: (c) Both 1 and 2 
Explanation: Both statements are correct. Alvars 
(devotees of Vishnu) and Nayanars (devotees of 
Shiva) popularized Bhakti in the South, while 
saints like Kabir and Guru Nanak in North India 
stressed equality and formless devotion. 
 

32. Answer: (c) Both 1 and 2 
Explanation: 
 Both statements are correct. Mitochondria 
produce ATP, the cell’s energy currency, and 
contain circular DNA and 70S ribosomes, similar 
to prokaryotes, supporting the endosymbiotic 
theory. 
 

33. Answer: (a) 1 only 
Explanation: 
 Statement 1 – Correct: Ramsar sites are 
internationally significant wetlands important for 
ecology, hydrology, and biodiversity. 
Statement 2 – Incorrect: Ramsar recognition does 
not mean UNESCO control; management remains 
with national governments. 
 

34. Answer: (a) 1 only 
 Explanation: The Finance Commission is 
constituted under Article 280 every five years. Its 
recommendations, however, are not binding on the 
government but hold persuasive value. 
 

35. Answer: (c) Both 1 and 2 
 Explanation: The Bhakti Movement stressed 
direct devotion to God, shunning rituals and caste 
barriers. Reformers like Kabir and Guru Nanak 
played a vital role in promoting unity and equality. 
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36. Answer:  (d) Neither 1 nor 2 
 Explanation: The ITCZ is a low-pressure zone 
near the equator where trade winds converge. Its 
seasonal north-south migration is crucial for 
monsoon systems. 
 

37. Answer: (c) Both 1 and 2 
 Explanation: Fiscal deficit reflects the borrowing 
requirement of the government. While it enables 
expenditure, persistent high deficits can cause 
borrowing burdens and inflation. 
 

38. Answer:  (d) Neither 1 nor 2 
 Explanation: India’s biodiversity hotspots are 
Himalaya, Indo-Burma, Sundalands (Nicobar 
Islands), and Western Ghats. They are rich in 
endemic species. 
 

39. Answer: (d) 
Explanation: 
 Assertion is false because DPSPs are non-
justiciable, meaning courts cannot enforce them. 
Reason is true since these provisions serve as 
guiding principles to achieve social and economic 
justice but are not legally binding. 
 

40. Ans: a 
 Explanation: The Yuva Puraskar 2025 was 
awarded to Parvati Keerthy, recognizing young 
literary talent. 
 

41. Ans: a 
 Explanation: The Khavda Renewable Energy 
Park in Gujarat will be the world’s largest, 
focusing on solar and wind energy. 
 

42. Ans: b 
 Explanation: The Kaladan Project links Kolkata 
port to Sittwe port in Myanmar via river and road 
routes, improving connectivity to India’s 
Northeast. 
 

43. Answer: (a) 1 only 
Explanation: Statement 1 is correct – Fatehpur 
Sikri was Akbar’s capital and shows Indo-Islamic 
synthesis. Statement 2 is incorrect – The Taj 
Mahal was commissioned by Shah Jahan in 
memory of Mumtaz Mahal, not by Jahangir. 
 

44. Answer: (a) 1 only 
Explanation: 
 Statement 1 is correct: blood groups are based on 
A, B, AB, or O antigens on RBCs. Statement 2 is 
incorrect: the Rh factor refers to the presence of an 
antigen (D antigen), not an antibody. 

45. Ans: a 
 Explanation: Twin deficit means simultaneous 
occurrence of fiscal deficit (govt. overspending) 
and current account deficit (imports > exports). 
 

46. Ans: a 
 Explanation: The Battle of Khanwa (1527) was 
fought between Babur and Rana Sanga of Mewar, 
consolidating Mughal power in North India. 
 

47. Ans: b 
Explanation: CBAM is an EU initiative that 
imposes a carbon price on imports from countries 
with weaker climate policies, ensuring fair 
competition. 
 

48. Answer: (d) 
Explanation: The Preamble is part of the 
Constitution but it is not a source of substantive 
power; it only provides guiding principles. Hence, 
Assertion is false while Reason is true. 
 

49. Answer: (a) 1 only 
Explanation: 
 Statement 1 – Correct: NAPCC includes missions 
such as the National Solar Mission, National 
Water Mission, and Green India Mission. 
 Statement 2 – Incorrect: India’s net-zero target is 
2070, not 2040. 
 

50. Answer: (c) Both 1 and 2 
Explanation: 
 Both statements are correct. Darwin proposed 
natural selection as the driving force of evolution. 
Lamarck, before Darwin, suggested inheritance of 
acquired characteristics — though later disproved, 
it was important in evolutionary thought. 
 

51. Answer: (c) 
  Explanation: Centrifugation is used to separate 
cream from milk. The process works on the 
principle of density difference, where spinning 
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separates lighter cream from denser milk 
effectively, commonly used in dairies. 
 

52. Answer: (c) 
 Explanation: Gasohol is a blend of 90% petrol 
and 10% ethanol, used to reduce fuel 
consumption. Alcohol increases the octane 
number, but lead is not used, making statement 3 
incorrect. 
  

53. Answer: (b) 
  Explanation: Physical changes do not produce 
new substances. Water freezing, sugar dissolving 
are reversible changes where no new compounds 
form, and separating butter from curd can’t be 
reversed, hence option b is correct. 
 

54. Answer: (b) 
  Explanation: Ozone is present mainly in the 
stratosphere, not the troposphere, where it shields 
Earth from UV rays. However, ozone is indeed 
used in water treatment as a disinfectant. 
 

55. Answer: (d) Inversely proportional 
Explanation: De Broglie proposed that moving 
particles exhibit wave-like properties. The 
wavelength (λ) is given by h/p (Planck’s constant 
divided by momentum). Since momentum 
depends on mass, wavelength decreases as mass 
increases. 
 

56. Answer: (c) Samudragupta 
Explanation: Samudragupta expanded the Gupta 
Empire through numerous successful campaigns 
across North and South India. His remarkable 
conquests, administrative skill, and military 
strength earned him the title "Napoleon of India," 
reflecting his dominance in subcontinental 
political and territorial expansion. 
 

57. Answer: (b) Only 2 
Explanation: The Swaraj Party, founded in 1923, 
was created to shift the nationalist struggle from 
boycott to active engagement in legislative 
councils. By entering assemblies, leaders like 
Motilal Nehru and C.R. Das sought to expose 
weaknesses of British governance and obstruct 
unjust policies. 
 

58. Answer: (c) Both 1 and 2 
Explanation: The Cholas built one of the most 
formidable navies of medieval India, enabling 
overseas trade and influence across Southeast 
Asia. Simultaneously, their administrative system 
encouraged local self-governance through ur 
assemblies, reflecting decentralization and 
community participation at the village level. 
 

59. Answer: (a) 
Explanation : Flood plains form by river 
deposition during floods. Mushroom rocks are 
carved in deserts through wind erosion. Meanders 
result from lateral erosion by rivers. Moraines are 
rocky ridges left by glaciers, highlighting different 
geomorphic processes shaping landscapes over 
time. 
  

60. Answer: (b) 2 only 
 Explanation: Harappans had a script 
(undeciphered till date), so statement 1 is 
incorrect. The Great Bath indicates ritualistic and 
possibly religious bathing (statement 2 correct). 
 

61. Correct Answer: (b) 2 only 
Explanation: 
 The iqta system was institutionalized under 
Iltutmish, not by Qutb-ud-din Aibak, though land 
assignments existed earlier. On the other hand, 
Balban reorganized the administration by 
establishing the Diwan-i-Arz as a separate military 
department, aiming to strengthen control over the 
army. 
 

62. Correct Answer: (d) 1-(b), 2-(c), 3-(a), 4-(d) 
Explanation: 
 Raja Ram Mohan Roy laid the foundation of the 
Brahmo Samaj in 1828 as a movement against 
social evils and in favour of monotheism. Swami 
Dayanand Saraswati established the Arya Samaj 
in 1875 with a call to return to the Vedic 
principles. The Prarthana Samaj came into being 
in 1867 under Atmaram Pandurang to promote 
reformist Hindu practices. The Paramhansa 
Mandali, one of the earliest secret societies for 
social reform, was set up in 1849 by Durgaram 
Manchharam. 
 

63. Answer: (a) 1 only 
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 Explanation: Kuchipudi originated in Andhra 
Pradesh (correct). Kathakali is traditionally a 
male-dominated dance form (statement 2 
incorrect). 
 

64. Answer: (d) Neither 1 nor 2 
Explanation: WPI tracks price changes at the 
producer/wholesale level, while CPI measures 
price changes at the consumer level. The 
statements reverse the definitions. 
 

65. Answer: (b) 2 only 
Explanation: The Swaran Singh Committee did 
suggest including the duty to pay taxes, but it was 
not incorporated into the final list of Fundamental 
Duties. The 11th Fundamental Duty, regarding the 
education of children between 6 and 14 years, was 
added by the 86th Amendment Act of 2002. 
 

66. Correct Answer: (c) That the process depriving a 
person of life or liberty must be fair, just, and 
reasonable, as clarified in the Maneka Gandhi 
judgment. 
Explanation: 
In the A.K. Gopalan v. State of Madras case 
(1950), the Supreme Court adopted a limited 
reading of Article 21, holding that any law made 
by Parliament was enough to justify curtailment of 
liberty. However, in Maneka Gandhi v. Union of 
India (1978), the Court transformed this view, 
declaring that “procedure established by law” 
cannot be arbitrary; it must satisfy the tests of 
fairness, reasonableness, and justice. This 
interpretation brought the Indian position closer to 
the American doctrine of due process of law. 
 

67. Answer: (c) 1-(b), 2-(d), 3-(c), 4-(a) 
Explanation: The Swachh Bharat Mission was 
launched in 2014. The Beti Bachao, Beti Padhao 
scheme was launched in 2015. The Atal Pension 
Yojana was launched in 2015. The Jal Jeevan 
Mission was launched in 2019. 
 

68. Correct Answer: (d) 1, 2 and 3 
Explanation: 
 Article 110 of the Constitution provides the 
definition of a Money Bill. It specifies that a Bill is 
considered a Money Bill if it exclusively deals 
with matters such as taxation, government 

borrowing, custody or withdrawal from the 
Consolidated Fund of India, or similar financial 
subjects. Since all three statements fall within the 
scope of Article 110, the correct option is (d). 
 

69. Correct Answer: (a) Both A and R are correct, and 
R provides the proper explanation of A. 
Explanation: 
 The Northern Hemisphere contains most of the 
world’s landmass, making it the land hemisphere, 
whereas the Southern Hemisphere has a dominant 
water surface, earning it the name water 
hemisphere. The figures given—about 61% land 
in the north and 81% water in the south—are 
accurate and directly justify the terminology. 
 

70. Correct Answer: (a) 1-(b), 2-(c), 3-(d), 4-(a) 
Explanation: 
 The Indian National Congress was established in 
1885 under the initiative of A.O. Hume. The 
Muslim League came into existence in 1906 at 
Dhaka. Annie Besant and Bal Gangadhar Tilak 
launched the Home Rule League movement in 
1916. The Swaraj Party was formed in 1923 by 
leaders like Motilal Nehru and C.R. Das to fight 
colonial policies from within the legislative 
councils. 
 

71. Answer: (a) 1 only 
 Explanation: Weather phenomena occur in the 
Troposphere (correct). Ozone layer is in the 
Stratosphere, not Mesosphere (statement 2 
incorrect). 
 

72. Correct Answer: (b) 1-(b), 2-(d), 3-(a), 4-(c) 
Explanation: 
 The River Thames flows through London, the 
Seine through Paris, the Nile through Cairo, and 
the Tiber through Rome. Each of these cities has 
historically developed along these rivers, which 
served as important lifelines for trade, culture, and 
settlement. 
 

73. Correct Answer: (c) Both 1 and 2 
Explanation: 
The cerebrum forms the most prominent part of 
the human brain and oversees voluntary actions 
like writing, speaking, and decision-making. 
Reflex actions, on the other hand, operate through 
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a reflex arc, a direct connection between sensory 
and motor neurons (sometimes via an 
interneuron), ensuring rapid responses such as 
pulling one’s hand away from a hot surface. 
 

74. Correct Answer: (d) Both 1 and 2 
Explanation: 
 Red blood cells carry oxygen from the lungs to 
the body with the help of hemoglobin, making 
them vital for cellular respiration. Once their 
lifespan of about 120 days ends, they are cleared 
from circulation. Macrophages in the spleen (often 
called the “graveyard of RBCs”), liver, and bone 
marrow digest them, with useful components like 
iron being recycled for new cell production. 
 

75. Answer: (c) Both 1 and 2 
Explanation: A combustion reaction is defined by 
a rapid reaction with oxygen, producing energy. A 
decomposition reaction involves a single 
compound breaking down into simpler parts. Both 
statements are accurate definitions of these types 
of chemical reactions. 
 

76. Correct Answer: (c) Both 1 and 2 
Explanation: 
 Uttar Pradesh is bordered by eight states: 
Uttarakhand, Himachal Pradesh, Haryana, 
Rajasthan, Madhya Pradesh, Chhattisgarh, 
Jharkhand, and Bihar, along with the National 
Capital Territory of Delhi, giving it the highest 
number of neighboring states in India. Lalitpur 
district, located in the southern part of the state, 
has the lowest population density according to the 
2011 Census, making both statements correct. 

 
77. Correct Answer: (c) Both 1 and 2 

Explanation: 
 The Eka Movement, also known as the Unity 
Movement, took place in 1921–22 in the Awadh 
region. It was driven by peasants protesting 
against the oppressive actions of zamindars 
(landlords) and revenue collectors who often 
demanded payments beyond the recorded rent. 
The movement sought to unify peasants against 
these exploitative practices, making both 
statements correct. 
 

78. Correct Answer: (a) Arthur G. Tansley 

Explanation: 
 The term ecosystem was coined by British 
ecologist Arthur G. Tansley in 1935 to describe 
the functional interaction between living 
organisms (plants, animals, microbes) and their 
physical environment. While E. P. Odum later 
developed the concept further for ecological 
studies, Tansley was the originator of the term. 
 

79. Correct Answer: (a) 1 only 
Explanation: 
 The 10% energy transfer rule, also known as 
Lindeman’s law, accurately describes the energy 
loss at each trophic level, with only about 10% of 
energy moving up to the next level. However, the 
greatest energy in an ecosystem is found at the 
producer (plant) level, not at the primary 
consumer level, because energy diminishes 
progressively along the food chain. 
 

80. Correct Answer: (c) Both 1 and 2 
Explanation: 
 Weber’s theory of industrial location aims to 
identify the most efficient site for an industry by 
reducing transportation and labor expenses, and by 
taking advantage of the benefits of agglomeration 
(clustering of industries). The least-cost location is 
determined as the point where the total 
transportation costs for raw materials and finished 
products are minimized, confirming both 
statements as correct. 
 

81. Correct Answer: (d) 1, 2 and 3 
Explanation: 
1. The Arabian Sea branch strikes the Western 

Ghats and, due to the elevation, causes heavy 
rainfall through orographic lift. 

2. The Bay of Bengal branch moves north along 
the eastern coast and curves westward, 
supplying rainfall to north and northwest 
India. 

3. During the retreating monsoon (October–
November), cyclonic depressions form over 
the Bay of Bengal, bringing rainfall to parts of 
southeast India and the east coast. 

All three statements accurately describe the 
dynamics of the Indian monsoon system. 
 

82. Correct Answer: (d) None 



 

 
 

9 
RACE 

IAS 
 

7388114444 

  ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR 
WEBSITE :www.raceias.com,  /raceiaslucknow 

E-mail ID : www.raceias.2010@gmail.com 

 
MOCK TEST 

EXPLANATIONS  
 

 

RACE 
IAS 

Explanation: 
 The Estimates Committee, Committee on Public 
Undertakings, and Public Accounts Committee are 
all important parliamentary committees in India. 
However, none of these are mentioned in the 
Constitution. They are created under the rules of 
procedure of Parliament and function as part of its 
legislative and financial oversight, but their 
establishment is statutory, not constitutional. 
 

83. Correct Answer: (d) 1, 2, and 4 only 
Explanation: 
 The Directive Principles of State Policy 
encourage the state to promote cooperative 
societies, organize agriculture and animal 
husbandry, and support cottage industries. 
Safeguarding public property is included as a 
Fundamental Duty under Article 51A but is not a 
Directive Principle. 

 
84. Correct Answer: 2. Only 2 

Explanation: 
● Statement 1 is incorrect: Lala Lajpat Rai was 

not the first General Secretary of AITUC. 
● Statement 2 is correct: The Congress session 

of 1922 welcomed the formation of AITUC 
and set up a committee to support its 
activities. 

 
85. Answer: (b) Encouraging the use of paperless 

transactions in banks 
Explanation: 
 Green Banking focuses on reducing the 
environmental impact of banking operations. A 
major aspect is promoting digital and paperless 
transactions, which help minimize paper 
consumption, reduce carbon footprint, and make 
banking more environmentally sustainable. 
 

86. Answer: (a) Production method 
Explanation: 
● The Production Method is used to calculate 

agricultural income in India. It estimates the 
total value of agricultural output (crops, 
livestock, etc.) produced in a year, minus the 
cost of inputs like seeds, fertilizers, and labor. 

● This method captures the contribution of 
agriculture to the national income and is 

preferred due to the variability of farm 
incomes and lack of formal records. 

 
87. Correct Answer: (d) Only 1 

Explanation: 
● Statement 1: Correct — Under Article 244(1), 

the President of India can declare any area as 
a Scheduled Area in consultation with the 
Governor of the state. 

● Statement 2: Incorrect — A Tribal Advisory 
Council (TAC) is not mandatory only in states 
with Scheduled Areas; while TACs are 
established in such states, the Constitution 
does not restrict their formation solely to 
Scheduled Areas. 

Therefore, the correct answer is (d) Only 1. 
 
 

88. Correct Answer: (a) A-1, B-2, C-3, D-4 
Explanation: 
● Gandhara had Taxila as its capital. 
● Vatsa was centered at Kaushambi. 
● Matsya had Viratanagara as its capital. 
● Kuru was centered at Hastinapur. 
These were key political centers during the 
Mahajanapada period in ancient India, forming the 
foundation of early urbanized states. 
 

89. Correct Answer: (b) 2 only 
Explanation: 
 Noble gases, located in Group 18, are chemically 
stable due to their complete valence electron shells 
and hence rarely form compounds. In contrast, 
halogens (Group 17) are highly reactive and 
strongly electronegative, making them eager to 
gain electrons during chemical reactions. 
 

90. Answer: (b) 2 and 3 only 
Explanation: 
● Statement 1 is incorrect: The Himalayan sea 

buckthorn grows in cold, dry regions like 
Ladakh, Spiti, and parts of Himachal Pradesh, 
not in tropical areas. 

● Statement 2 is correct: It can fix atmospheric 
nitrogen through symbiotic bacteria, enriching 
soil fertility. 

● Statement 3 is correct: Its fruits and leaves are 
highly nutritious, containing Vitamin C and 
antioxidants. 
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91. Answer: (c) Orographic lifting 

Explanation: 
● Cloudbursts occur when moist air is forced to 

ascend over mountains, leading to rapid 
condensation and extremely heavy rainfall in a 
short duration. 

● This process is known as orographic lifting, 
where mountains act as barriers that lift the 
incoming moist air, causing intense 
precipitation over localized areas. 

 
92. Answer: (a) 1 only 

Explanation: 
● Statement 1 is correct: LIC was founded in 

1956 by merging 245 Indian and foreign 
insurers and provident societies. 

● Statement 2 is incorrect: LIC operates under 
the Ministry of Finance, Government of India, 
and is regulated by the Insurance Regulatory 
and Development Authority of India (IRDAI), 
not the RBI. 

 
93. Answer: (c) Radhakrishnan Commission 

Explanation: 
● The Radhakrishnan Commission (1948–49) 

was set up to review the working of higher 
education in India. 

● Based on its recommendations, the University 
Grants Commission (UGC) was established in 
1956 to oversee the development and 
coordination of university education in India. 

 
94. Answer: (a) 1 and 2 only 

Explanation: The Fourth Five-Year Plan saw the 
implementation of the Green Revolution and the 
nationalization of 14 major Indian banks. The 
slogan "Garibi Hatao" was a key objective of the 
Fifth Five-Year Plan. 
 

95. Correct Answer: (a) 1 only 
Explanation: 
● Statement 1 is correct. The Vinaya Pitaka, part 

of the Buddhist canon, lays down disciplinary 
rules for monks and nuns in the Sangha. 

● Statement 2 is incorrect. Bhikkhus are 
expected to accept only the quantity of food 
necessary for sustenance, and there are 
restrictions on what and how much they can 

consume, even when offered at a layperson’s 
residence. 

 
96. Correct Answer: (a) 2 only 

Explanation: 
● Statement 1 is incorrect because a joint sitting 

of Parliament cannot be called for a 
constitutional amendment; the amendment 
process is separate from ordinary legislation. 

● Statement 2 is correct: A constitutional 
amendment Bill can be introduced in either 
House of Parliament. 

● Statement 3 is incorrect because, unlike 
ordinary bills, a constitutional amendment Bill 
does not require the prior recommendation of 
the President to be introduced. 

 
97. Correct Answer: (a) 1 and 3 only 

Explanation: 
1. Malthus argued that population grows 

exponentially (geometric progression), while 
food production grows linearly (arithmetic 
progression), leading to the risk of famine. 

2. The theory does not emphasize technological 
innovations as a solution; it focuses on natural 
checks (preventive and positive) rather than 
relying on human-made advancements. 

3. Preventive checks like late marriage, moral 
restraint, and family planning were advocated 
by Malthus to reduce population growth. 

 
98. Correct Answer: (a) Free passport or duty-free 

trade 
Explanation: 
 The term ‘Dastak’ referred to a special permit 
issued by the British East India Company that 
allowed certain traders to conduct business 
without paying customs duties. This privilege was 
mainly used in 18th century Bengal, giving the 
Company a monopoly over trade and bypassing 
local regulations. 
 

99. Answer: (a) 1 only 
Explanation: 
● Statement 1 is correct: Classical economics is 

associated with Adam Smith, David Ricardo, 
and other early economists. 

● Statement 2 is incorrect: Classical theory 
emphasizes a laissez-faire approach, 
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advocating minimal government intervention 
and believing that markets are largely self-
regulating. 

 
100. Answer: (c) Both 1 and 2 

Explanation: 
● Statement 1 is correct: Keynesian theory 

focuses on aggregate demand as the primary 
driver of economic activity, particularly in the 
short run. 

● Statement 2 is correct: It advocates active 
government intervention, using fiscal 
measures (like government spending) and 
monetary tools to mitigate economic 
downturns and stabilize output and 
employment. 

 
101. Correct Answer: (a) 1 only 

Explanation: 
● Statement 1 is correct: Humayun’s Tomb in 

Delhi is the first major Persian-style charbagh 
(four-part) garden tomb in India, influencing 
later Mughal architecture. 

● Statement 2 is incorrect: Fatehpur Sikri was 
built by Emperor Akbar, not Shah Jahan. 

 
102. Correct Answer: (c) 1 and 3 only 

Explanation: 
1. The Son River originates in the Amarkantak 

Plateau (Madhya Pradesh) and flows through 
the Vindhyan region in eastern Uttar Pradesh. 

2. It joins the Ganga as a Right-bank tributary 
near Patna in Bihar. 

3. The Son Valley region is known for laterite 
deposits, so statement 3 is correct.. 

Hence, statements 1 and 3 are correct. 
 

103. Correct Answer: (a) Rabindranath Tagore 
Explanation: 
 During the Non-Cooperation Movement (1920–
22), many Indians boycotted foreign goods as a 
part of the Swadeshi campaign. Rabindranath 
Tagore protested against the practice of burning 
foreign textiles, arguing that such actions were 
extreme and unnecessary, even though he 
supported the broader aim of promoting 
indigenous industries. The other leaders listed 
either participated in the movement differently or 
did not specifically protest this act. 

 
104. Answer: (c) Third Five-Year Plan 

Explanation: The Third Five-Year Plan is also 
known as the "Gadgil Yojana," named after the 
Deputy Chairman of the Planning Commission at 
the time, D.R. Gadgil. 
 

105. Answer: (b) 2 only 
Explanation: 
● Statement 1 is incorrect: A superconductor’s 

resistance drops to zero below a critical 
temperature, not above it. 

● Statement 2 is correct: The Meissner effect is 
the phenomenon where a superconductor 
expels magnetic fields from its interior when 
it enters the superconducting state, 
demonstrating perfect diamagnetism. 

 
106. Answer: (c) Both 1 and 2 

Explanation: 
● Statement 1 is correct: Cyanobacteria are 

prokaryotic like bacteria, and are often called 
blue-green algae due to their pigmentation and 
photosynthetic ability. 

● Statement 2 is correct: They carry out 
oxygenic photosynthesis, producing oxygen, 
and can fix atmospheric nitrogen, often using 
specialized cells called heterocysts. 

 
107. Answer: (c) Both 1 and 2 

Explanation: According to Whittaker's system, the 
Kingdom Protista includes all unicellular 
eukaryotes. The classification was also based on 
the stated criteria. 
 

108. Correct Answer: (a) It accounts for migration 
along with births and deaths. 
Explanation: 
The natural growth rate measures population 
change based solely on the difference between 
births and deaths. The actual growth rate, 
however, also incorporates the effects of migration 
(both in-migration and out-migration), which 
makes it a more comprehensive measure of 
population change. Options (b), (c), and (d) are 
incorrect because they either oversimplify or 
misrepresent how actual growth rate is calculated. 
 

109. Answer: (a) 1 only 



 

 
 

12 

 
MOCK TEST 

EXPLANATIONS  
 

RACE 
IAS 

 
8917851448 

ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR 
WEBSITE :www.raceias.com,  /raceiaslucknow 

E-mail ID : www.raceias.2010@gmail.com 

Explanation: Statement 1 correctly defines the 
process of earthing, also known as grounding. The 
purpose of earthing is to provide a low-resistance 
path for fault currents to flow to the ground, which 
protects both the equipment and the operating 
personnel from electric shock.  
 

110. Answer: (a) 1 only 
Explanation: 
● Statement 1 is correct: The NDMA, 

established under the Disaster Management 
Act, 2005, is the apex statutory authority for 
planning, coordinating, and implementing 
disaster management in India. 

● Statement 2 is incorrect: The Prime Minister 
of India, not the Home Minister, serves as the 
ex-officio chairman of the NDMA. 

 
111. Answer: (b) 2 only 

Explanation: 
● Statement 1 is incorrect: Robusta is more 

resilient and is usually cultivated at lower 
altitudes, whereas Arabica is delicate and 
prefers higher altitudes. 

● Statement 2 is correct: Robusta beans contain 
more caffeine than Arabica beans, which 
contributes to their stronger flavor and higher 
resistance to pests. 

 
112. Correct Answer: (b) 1 only 

Explanation: 
The correct answer is (b) 1 only. 
● Statement 1: True — The Special Officer for 

Linguistic Minorities is appointed by the 
President of India under Article 350B. 

● Statement 2: False — The officer submits the 
report to the President, not directly to 
Parliament. 

● Statement 3: False — The position is provided 
under Article 350B, not Article 351 (which 
deals with the development of Hindi). 

 
113. Correct Answer: (a) Abul Kalam Azad 

Explanation: 
● The Cripps Mission (1942) was primarily 

engaged with leaders of the Indian National 
Congress to secure support for the British war 
effort. 

● Abul Kalam Azad, though a senior Congress 
leader and educationist, was not Congress 
President at that time, but he did hold talks 
with both the Cripps Mission and Lord 
Wavell. 

● C. Rajagopalachari was involved in other 
negotiations but the specific reference to both 
Cripps Mission and Lord Wavell aligns with 
Abul Kalam Azad. 

 
114. Answer: (a) 1 only 

Explanation: 
● Statement 1 is correct: Fakir Ulla Khan was a 

prominent painter in Shah Jahan’s court and 
headed the Karkhana (royal workshop). 

● Statement 2 is incorrect: The art style under 
Shah Jahan became more formal and stylized, 
often focusing on idealized portraits with a 
cooler color palette, contrasting with 
Jahangir’s emphasis on naturalism and 
brighter colors. 

 
115. Answer: (a) Shravasti 

Explanation: 
● Shravasti district had the lowest female 

literacy rate in Uttar Pradesh at 37.0%, also 
reflecting the district’s overall low literacy. 

● While Bahraich, Balrampur, and Badaun have 
low literacy rates, none of them ranked lower 
than Shravasti. 
 

116. Answer: (a) 1 only 
Explanation: 
 German silver is a metal alloy made from copper, 
nickel, and zinc. Contrary to what the name 
suggests, it does not contain any actual silver; the 
name is derived from its silvery-white appearance. 
 

117. Correct Answer: (a) A secret revolutionary 
organization of extremists 
Explanation: 
Abhinav India was a secret society formed by 
Indian revolutionaries during the early 20th 
century to fight British colonial rule. Its members 
aimed at organizing underground activities, 
promoting revolutionary ideas, and planning acts 
of political resistance. It was not a newspaper, a 
tribal movement, or a moderate political concept. 
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118. Correct Answer: (b) It is built across the Betwa 
River in Jhansi district and provides both 
irrigation and thermal power support. 
Explanation: 
 Parichha Dam is constructed on the Betwa River 
near Parichha in Jhansi district of Uttar Pradesh. It 
serves dual purposes: supplying water for 
irrigation in the surrounding Bundelkhand region 
and supporting the Parichha Thermal Power 
Station. The other options incorrectly associate the 
dam with different rivers, districts, or uses. 
 

119. Answer: (b) 1576 
Explanation: The Battle of Haldighati was fought 
on June 18, 1576, between Maharana Pratap's 
forces and the Mughal army led by Man Singh I of 
Amber. 
 

120. Answer: (d) 1, 2 and 3 
Explanation: 

● The 91st Amendment aimed to reduce 
large cabinets and curb political 
defections. 

● It restricts the Union and state cabinets to 
15% of the strength of the Lok Sabha and 
state legislatures respectively. 

● The amendment also removed the “one-
third split” provision under the Tenth 
Schedule, which had previously allowed 
defections without disqualification 

 
121. Answer: (b) 30 days 

Explanation: 
 The 130th Amendment Bill, 2025, seeks to ensure 
that ministers facing serious criminal charges and 
held in custody for a continuous period of 30 days 
are automatically disqualified from holding 
ministerial office. This provision aims to 
strengthen accountability and maintain the 
integrity of public office. 
 

122. Answer: (b) Vishnuprayag → Nandaprayag → 
Karnaprayag → Rudraprayag → Devprayag 
Explanation: 
 The Alaknanda River meets its major tributaries 
at five sacred confluences, collectively called 
Panch Prayag. The correct order, following the 
river’s flow from higher altitudes to lower, is: 

● Vishnuprayag – confluence with the 
Dhauliganga 

● Nandaprayag – confluence with the Nandakini 
● Karnaprayag – confluence with the Pindar 
● Rudraprayag – confluence with the Mandakini 
● Devprayag – confluence with the Bhagirathi, 

where the Ganga officially begins. 
 
 

123. Answer: (b) Baron Pierre de Coubertin 
Explanation: 
 Baron Pierre de Coubertin, a French historian and 
educator, is recognized as the founder of the 
modern Olympic Games. He played a key role in 
reviving the Olympics in 1896 and established the 
International Olympic Committee (IOC) in 1894. 
 

124. Correct Answer: (c) A is true, but R is false 
Explanation: 
 Rural-to-urban migration is a key factor behind 
the expansion of slums in India, as many migrants 
move to cities in search of employment and better 
livelihoods. However, urban areas do not 
generally provide sufficient affordable housing; 
the shortage of low-cost housing is precisely why 
slums proliferate. Therefore, while the assertion is 
correct, the reason given is false. 
 

125. Answer: (c) Both 1 and 2 
Explanation: 
● Starlink deploys a constellation of satellites in 

LEO, which are much closer to Earth than 
geostationary satellites, significantly reducing 
signal travel time. 

● This proximity enables lower latency and 
faster internet speeds, addressing limitations 
of traditional geostationary satellite-based 
internet. 

 
126. Answer: (d) Bosporus Strait 

 Explanation: The Bosporus Strait links the Black 
Sea with the Sea of Marmara. The other straits 
connect different bodies of water: Hormuz 
(Persian Gulf → Gulf of Oman), Gibraltar 
(Mediterranean → Atlantic), Malacca (Indian 
Ocean → South China Sea). 
 

127. Answer: (c) 2 only 
 Explanation: 
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● “Willy-Willy” is the term used for tropical 
cyclones in Western Australia. 

● Hurricanes occur in the Atlantic and Northeast 
Pacific, not the Western Pacific. 

● Typhoons occur in the Northwest Pacific, not 
the Indian Ocean. 

● Cyclone is the general term used in the Indian 
Ocean and South Pacific, not the Atlantic. 

 
 

128. Answer: (b) Southwestern Pacific Ocean 
 Explanation: The Solomon Islands lie in the 
Southwestern Pacific Ocean, east of Papua New 
Guinea. 
 

129. Answer: (a) 3 March 
 Explanation: The United Nations celebrates 
World Wildlife Day on 3rd March every year to 
raise awareness about the importance of wildlife 
conservation. 
 

130. Answer: (b) Krishna – Penganga 
 Explanation: The Penganga is not a tributary of 
the Krishna River; it is actually a tributary of the 
Godavari system in some classifications, making 
this pair incorrect. 
 

131. Answer: (c) Dogri 
 Explanation: Ladakh recognizes English, Hindi, 
Urdu, Bhoti, and Purki as its official languages, 
but Dogri has not been granted official status. 
 

132. Answer: (c) To study Jupiter’s moon Europa in 
detail 
 Explanation: The mission is designed to perform 
detailed observations of Europa, one of Jupiter’s 
moons, to study its ice shell, subsurface ocean, 
and potential habitability. 
 

133. Answer: (b) First Indian-made 32-bit 
microprocessor 
 Explanation: Vikram 3201 is the first indigenous 
32-bit microprocessor developed in India. 
 

134. Answer: (c) Thrust Tech India Private Limited 
 Explanation: Thrust Tech India Private Limited, 
an Indian startup, collaborated in the launch of the 
model rocket for ISRO’s test in Kushinagar. 
 

135. Answer: (a) SpaceX Dragon and Falcon 9 
 Explanation: The mission used the SpaceX 
Dragon spacecraft launched atop a Falcon 9 rocket 
from the USA. 
 

136. Answer: (c) Karnataka 
Explanation: Karnataka leads among Indian 
states in digital governance and infrastructure, 
followed by Maharashtra, Telangana, and Gujarat. 
 

137. Answer: (b) 22% 
 Explanation: Income tax contributes 22% of 
total government revenue 
 

138. Answer: (c) ₹4000 crore 
 Explanation: The total budget for the scheme is 
₹4000 crore, with financial assistance from the 
World Bank and the state government. 
 

139. Answer: (c) 20% 
Explanation: Agniveers are provided 20% 
reservation in direct recruitment for these posts. 
 

140. Answer: (c) Indonesia 
 Explanation: Indonesia is the first ASEAN 
country to become a BRICS member. 
 

141. Answer: (a) To provide humanitarian and medical 
aid to earthquake victims in Myanmar 
Explanation: Operation Brahma was launched by 
the Government of India on 28 March 2025 to 
provide relief and medical assistance after a 7.7 
magnitude earthquake struck the Sagaing region 
of Myanmar. 
 

142. Answer: (c) 131st 
 Explanation: The Global Gender Gap Report 
2025, released by the World Economic Forum on 
11 June 2025, ranked Iceland 1st, Finland 2nd, 
and India 131st. India’s sub-index ranks are: 
economic participation & political empowerment 
(144th), educational attainment (110th), health & 
survival (143rd), and political empowerment 
(69th). 
 

143. Answer: (b) 41st 
 Explanation: The IMD World Competitiveness 
Ranking 2025, released in June 2025, ranked 
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Switzerland 1st, Singapore 2nd, and India 41st 
among 69 economies. Venezuela ranked last. 
 

144. Correct answer is (b) 1 and 3 only. 
Explanation  
Statement 1 is correct: Aizawl was connected to 
the national railway network for the first time, 
with CRS clearance received in June 2025  
Statement 2 is incorrect: Although Aizawl is the 
fourth northeastern capital to be connected, the 
previously connected capitals are Dispur (Assam), 
Agartala (Tripura), and Itanagar (Arunachal 
Pradesh)—not Shillong (Meghalaya)  
Statement 3 is correct: The Bairabi–Sairang line is 
around 51.38 km long and features extensive 
engineering works—numerous tunnels and 
bridges 
 

145. Answer: (b) Hyderabad 
 Explanation: Google set up its first Security 
Engineering Centre in the Asia-Pacific region in 
Hyderabad, focusing on cybersecurity, threat 
analysis, and engineering solutions for its products 
and services. 
 

146. Correct Answer: (b) International Year of Women 
Farmers 
Explanation: 
 The United Nations General Assembly officially 
declared 2026 as the International Year of Women 
Farmers. This initiative aims to recognize the vital 
role of women in agriculture and ensure they have 
equal access to resources, opportunities, and 
decision-making in the agricultural sector. The 
year is dedicated to promoting women’s 
contribution to food security, sustainable farming, 
and rural development. 
 

147. Ans d 
Explanation 
Statement 1 is correct: Lucknow has indeed been 
officially nominated by the Government of India 
for inclusion in UNESCO's Creative Cities 
Network under the “City of Gastronomy” 
category.  
Statement 2 is incorrect: Hyderabad is the first 
Indian city currently holding the “City of 
Gastronomy” designation in 2019, Lucknow is 
nominated in 2025. 

Statement 3 is correct: The nomination highlights 
Lucknow’s rich Awadhi cuisine, notably famous 
for Tunday kebabs, biryani, khasta, jalebi, and 
other distinctive dishes reflecting its culinary 
heritage. 
 

148. Answer: (d) None of the above 
Explanation: 
 All the statements provided are accurate 
according to the India Justice Report 2025: 

1. The report was indeed released by Tata 
Trusts. 

2. The police-population ratio in India stands 
at 155 per 100,000 people, which is below 
the sanctioned strength of 197. 

3. Women constitute 8% of the total police 
officers in India, with the majority serving 
in junior constabulary roles. 

Therefore, none of the statements are incorrect. 
 

149. Correct Answer: (c) 6.5% 
Explanation: 
 The Reserve Bank of India (RBI) has maintained 
its GDP growth forecast for the fiscal year 2025–
26 at 6.5%. This projection reflects the central 
bank's confidence in the resilience of the Indian 
economy, supported by factors such as robust 
rural demand, continued government expenditure 
on large-scale infrastructure projects, and a 
favorable monsoon season. Despite global 
uncertainties, including trade tensions and 
geopolitical challenges, the RBI's outlook 
indicates a steady economic trajectory for the 
upcoming fiscal year. 
 

150. Correct Answer: (b) Tral Wildlife Sanctuary 
Explanation: 
 The Tral Wildlife Sanctuary in Jammu & 
Kashmir has been designated as a sensitive zone to 
protect its rich biodiversity and wildlife. This 
measure aims to conserve the natural habitat and 
ensure the safety of the resident species from 
human interference and environmental threats. 
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1- उȅर: (d) न तो 1 और न ही 2 

˙ʼीकरण: 
● अथŊशा˓ एक अȑिधक कŐ ūीकृत Ůशासिनक ʩव̾था की 
वकालत करता है, न िक िवकŐ ūीकृत शासन की (कथन 1 
गलत है)। 
● मेग̾थनीज की इंिडका चंūगुɑ मौयŊ के शासनकाल का 
वणŊन करती है, न िक अशोक के धʃ का (कथन 2 गलत 
है)। 
 

2- उȅर: (d) ʩİƅगत भİƅ पर ज़ोर देना और जाितगत 
पदानुŢम को चुनौती देना। 
ʩाƥा: 
भİƅ आंदोलन ने ईʷर के Ůित ŮȑƗ भİƅ (ʩİƅगत 
भİƅ) पर ज़ोर िदया और अƛर कठोर जाित ʩव̾था को 
अˢीकार िकया। इसने जनता से जुड़ने के िलए केवल 
संˋृत का ही नही,ं बİʋ Ɨेũीय भाषाओ ंका भी इˑेमाल 
िकया। 
 

3- उȅर: (b) इƅा ने अिधकाįरयो ं को राजˢ संŤह के 
अिधकार सौपें, लेिकन भूिम राǛ की संपिȅ बनी रही। 
ʩाƥा: 
इƅा Ůणाली के तहत, सʔनत ने अिधकाįरयो ं(इƅादारो)ं 
को Ůशासिनक और सैɊ सेवाओ ंके बदले मŐ िनिदŊʼ Ɨेũो ंसे 
राजˢ एकũ करने का अिधकार िदया। भूिम ˢयं राǛ के 
ˢािमȕ मŐ रही, और ये आवंटन आम तौर पर गैर-वंशानुगत 
थे और समय-समय पर पुनमूŊʞांकन के अधीन थे। 
 

4- उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: 
कथन 1 सही है: यह आंदोलन 1919 के जिलयाँवाला बाग 
हȑाकांड और İखलाफत मुȞे से Ůेįरत था, िजसका उȞेʴ 
िहंदुओ ंऔर मुसलमानो ंको एकजुट करना था। 
कथन 2 सही है: अली बंधुओ ंने İखलाफत आंदोलन मŐ 
महȕपूणŊ भूिमका िनभाई और गांधी के साथ िमलकर 
असहयोग आंदोलन मŐ जन भागीदारी जुटाने मŐ मदद की। 
 

5- उȅर: (d) ओिडसी - कनाŊटक के मंिदर 
˙ʼीकरण: 
ओिडसी की उȋिȅ ओिडशा के मंिदरो ंमŐ Šई थी, कनाŊटक 
मŐ नही।ं भरतनाǨम तिमलनाडु से, कथक मुगल दरबार से 
और कुिचपुड़ी आंŬ Ůदेश से है। 
 

6- उȅर: (b) Ůाचीन पंचांग Ůणाली के अनुसार समय ŮदिशŊत 
करने वाली भारत की पहली घड़ी है। 
ʩाƥा: 

उǍैन की घड़ी वैिदक खगोल िवǒान (पंचांग) के आधार पर 
समय ŮदिशŊत करती है, जो Ťहो ंकी İ̾थित और पारंपįरक 
भारतीय समय-िनधाŊरण के अनुŝप है। 
 

7- उȅर: (a) केवल 1 
˙ʼीकरण: 
● ECI की ̾थापना अनुǅेद 324 के तहत की गई है (कथन 
1 सही है)। 
● इसके िनणŊय Ɋाियक समीƗा के अधीन हœ (कथन 2 गलत 
है)। 
 

8- उȅर: (a) केवल Ůधानमंũी की सलाह पर। 
ʩाƥा: 
रा Ō̓ पित मंिũपįरषद की सहायता और सलाह पर कायŊ करता 
है (अनुǅेद 74)। िववेकाधीन शİƅयाँ दुलŊभ संवैधािनक 
संकटो ंतक ही सीिमत हœ। 
 

9- उȅर: (b) केवल 2 

˙ʼीकरण: 
कथन 1 गलत है: केरल, अपने 2025 के बजट मŐ, एक 
समिपŊत भिवˈ िवभाग ̾थािपत करने वाला पहला भारतीय 
राǛ बन गया। 
कथन 2 सही है: यह िवभाग राǛ को उभरती चुनौितयो ंऔर 
अवसरो ंके िलए तैयार करने हेतु दीघŊकािलक रणनीितक 
योजना, ŮौȨोिगकी दूरदिशŊता और नीितयो ंपर ȯान कŐ िūत 
करने के िलए िडज़ाइन िकया गया है। 
 

10- उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: 
कथन 1 सही है: भारत का पहला PFBR इंिदरा गांधी परमाणु 
अनुसंधान कŐ ū (IGCAR), कलपſम, तिमलनाडु मŐ İ̾थत 
है। 
कथन 2 सही है: ūुत Ůजनक įरएƃर अपनी खपत से 
अिधक िवखंडनीय पदाथŊ उȋɄ करने मŐ सƗम हœ, िजससे 
ईंधन दƗता बढ़ती है और दीघŊकािलक परमाणु ऊजाŊ 
İ̾थरता मŐ योगदान िमलता है। 
 

11- उȅर: (d) ये नाइटŌ ोजन मŐ कम लेिकन कैİ̵शयम और 
मैưीिशयम से भरपूर होती हœ। 
ʩाƥा: 
काली िमǥी (रेगुर) मŐ नाइटŌ ोजन और फा˛ोरस की कमी 
होती है, लेिकन चूना, लोहा और मैưीिशयम Ůचुर माũा मŐ 
होता है। ये कपास की खेती (चावल की नही)ं के िलए सबसे 
उपयुƅ हœ और अधŊ-शुʺ पįरİ̾थितयो ंमŐ बेसाİʐक चǥानो ं
से बनती हœ। 
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12- उȅर: (d) न तो 1 और न ही 2 

˙ʼीकरण: 
● भूकंप का कŐ ū िबंदु, भूकंप का भूिमगत मूल िबंदु होता है 
(कथन 1 पįरभाषाओ ंको उलट देता है)। 
● भूकंप का कŐ ū िबंदु िबंदु के ठीक ऊपर İ̾थत सतही िबंदु 
होता है (कथन 2 संबंध को गलत तरीके से उलट देता है)। 
 

13- उȅर: (c) पूरक Ɨार युƵो ंके बीच हाइडŌ ोजन बंध 

˙ʼीकरण: 
डीएनए रǍुक Ɨार युƵो ं(A-T और C-G) के बीच 
हाइडŌ ोजन बंध Ȫारा जुड़े होते हœ। सहसंयोजक बंध शकŊ रा-
फॉ˛ेट की रीढ़ बनाते हœ, जबिक डाइस̵फ़ाइड सेतु Ůोटीन 
संरचनाओ ंको İ̾थर करते हœ। 
 

14- उȅर: (b) खंिडत भूिम जोत और छोटे खेत 

˙ʼीकरण: 
उȅर Ůदेश उȅरािधकार कानूनो ंके कारण भूिम िवखंडन का 
सामना कर रहा है, िजसके कारण खेती का आकार 
अलाभकारी (औसतन <1 हेƃेयर) हो गया है। इससे 
मशीनीकरण और पैमाने की अथŊʩव̾था सीिमत हो जाती है। 
 

15- उȅर: (a) केवल 1 

˙ʼीकरण: 
● रामनगर की रामलीला यूनेˋो की अमूतŊ सांˋृितक 
िवरासत है (कथन 1 सही है)। 
● भातखंडे सं̾थान लखनऊ मŐ है, वाराणसी मŐ नही ं(कथन 2 
गलत है)। 
 

16- उȅर: (b) लुɑŮाय Ůजाितयो ं के अंतराŊ Ō̓ ीय ʩापार को 
िविनयिमत करना 
˙ʼीकरण: 
CITES यह सुिनिʮत करने के िलए एक परिमट Ůणाली का 
उपयोग करता है िक ʩापार Ůजाितयो ंके अİˑȕ के िलए 
खतरा न बने। यह ʩापार पर Ůितबंध लगाने के बजाय उसे 
िविनयिमत करता है (उदाहरण के िलए, कुछ Ůजाितयो ंमŐ 
̾थायी ʩापार की अनुमित देना)। 
 

17- उȅर: (a) सड़न 

˙ʼीकरण: 
सड़न मŐ सूƘजीवी िŢया Ȫारा रेशो ंको ढीला करने के िलए 
जूट के तनो ंको पानी मŐ िभगोना शािमल है। ओटाई कपास 
के िलए है, जबिक कताई/बुनाई रेशा िनʺषŊण के बाद की 
ŮिŢयाएँ हœ। 
 

18- उȅर: (a) िवकास को समथŊन देते Šए मुūा˛ीित को 
िनयंिũत करना 
ʩाƥा: 
आरबीआई अिधिनयम के तहत एमपीसी का अिधदेश 
िवकास उȞेʴो ंपर िवचार करते Šए मूʞ İ̾थरता 
(मुūा˛ीित लƙ: 4% ± 2%) बनाए रखना है। िविनमय दरो ं
का Ůबंधन अलग से िकया जाता है। 
 

19- उȅर: (b) अनुǅेद 165 
ʩाƥा: 
अनुǅेद 165, महािधवƅा को राǛ का सवŖǄ िविध 
अिधकारी िनयुƅ करता है, जो भारत के महाɊायवादी 
(अनुǅेद 76) के समान है। 
 

20- उȅर: (c) पूवŊ की ओर बहने वाली निदयो ं Ȫारा िवǅेिदत 
असंतत पहािड़याँ 
ʩाƥा: 
पिʮमी घाटो ंके िवपरीत, पूवŎ घाट गोदावरी और कृˁा जैसी 
निदयो ंȪारा खंिडत और अपरिदत हœ, िजनका उȜम पिʮमी 
घाट से होता है, पूवŎ घाट से नही।ं 
 

21- उȅर: (b) दिƗण अंडमान और छोटा अंडमान 

ʩाƥा: डंकन दराŊ दिƗण अंडमान को छोटे अंडमान से 
िवभािजत करता है। इसे टेन िडŤी चैनल के साथ űिमत नही ं
होना चािहए, जो अंडमान और िनकोबार ŵंृखला मŐ िलिटल 
अंडमान को कार िनकोबार से अलग करता है। 
 

22- उȅर: (d) ʩास 

ʩाƥा: ʩास नदी िहमाचल Ůदेश मŐ रोहतांग दरő  के पास से 
शुŝ होती है, पंजाब से होकर बहती है और हįरके मŐ 
सतलुज मŐ िमल जाती है। िसंधु या Ű˦पुũ के िवपरीत, यह 
पड़ोसी देशो ंमŐ Ůवेश नही ंकरती है। 
 

23- उȅर: (b) उǄ ऊँचाई पर İ̾थत खारे पानी की झील, जो 
आंिशक ŝप से भारत मŐ है 

ʩाƥा: पœगोगं Ȗो लगभग 4,350 मीटर की ऊँचाई पर 
İ̾थत है, जो इसे सबसे ऊँची खारे पानी की झीलो ंमŐ से एक 
बनाता है। इसका लगभग 40% भाग भारत मŐ, 50% चीन मŐ 
और शेष िववािदत Ɨेũ मŐ İ̾थत है। 
 

24- उȅर: (c) 24° उȅर 
ʩाƥा: ककŊ  रेखा के िनकट, 24° उȅरी अƗांश कई 
भारतीय राǛो ंसे होकर गुजरता है। यह रेखा ˢयं आठ 
राǛो ंसे होकर गुजरती है, िजनमŐ गुजरात, राज̾थान, मȯ 
Ůदेश, छȅीसगढ़, पिʮम बंगाल, िũपुरा और िमज़ोरम शािमल 
हœ। 
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25- उȅर: (a) ितɬत मŐ Ȗांगपो और चीन मŐ यारलंुग 

ʩाƥा: कैलाश पवŊतमाला से िनकलकर, यह नदी ितɬत मŐ 
Ȗांगपो या यारलंुग के ŝप मŐ बहती है, सिदया के पास 
अŜणाचल Ůदेश मŐ Ůवेश करती है, िफर असम और 
बांƸादेश मŐ बहती है, जहाँ यह गंगा नदी मŐ िमल जाती है। 
 

26- उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: 
कथन 1 - सही:  
PFBR की ̾थापना इंिदरा गांधी परमाणु अनुसंधान कŐ ū के 
अंतगŊत तिमलनाडु के कलपſम मŐ की जा रही है। 
कथन 2 - सही: इसे एक तीŴ Ůजनक įरएƃर के ŝप मŐ 
िडज़ाइन िकया गया है, जो ɘूटोिनयम-239 का उपभोग 
करता है लेिकन अितįरƅ िवखंडनीय यूरेिनयम-
233/ɘूटोिनयम-239 का Ůजनन करता है, जो इसे भारत के 
िũ-चरणीय परमाणु कायŊŢम के िलए महȕपूणŊ बनाता है। 
 

27- उȅर: (a) केवल 1 

˙ʼीकरण: 
कथन 1 - सही: Ɋाियक समीƗा सवŖǄ Ɋायालय और उǄ 
Ɋायालयो ंको संिवधान का उʟंघन करने वाले कानूनो ंया 
कायŘ को रȞ करने की अनुमित देती है। 
कथन 2 - गलत: संिवधान ˙ʼ ŝप से "Ɋाियक समीƗा" 
शɨ का Ůयोग नही ंकरता है, हालाँिक अनुǅेद 13, 32, 
131-136 और 226 परोƗ ŝप से यह शİƅ Ůदान करते 
हœ। 
 

28- उȅर: (b) वषाŊ से पोिषत और मौसमी 
ʩाƥा: गोदावरी, कृˁा और कावेरी जैसी ŮायȪीपीय निदयाँ 
मुƥतः  वषाŊ पर िनभŊर करती हœ। ये निदयाँ आमतौर पर पूवŊ 
की ओर बंगाल की खाड़ी मŐ िगरती हœ, िसवाय नमŊदा और 
तापी के, जो पिʮम की ओर अरब सागर मŐ िगरती हœ। 
 

29- उȅर: (b) केवल 2 
˙ʼीकरण: 
कथन 1 - गलत: धन िवधेयक रा Ō̓ पित Ȫारा वापस नही ंिकया 
जा सकता; इसे केवल ˢीकृित दी जा सकती है या रोका जा 
सकता है। 
कथन 2 - सही: अनुǅेद 74 के तहत, रा Ō̓ पित सामाɊतः  
मंिũपįरषद की सहायता और सलाह पर, सीिमत िववेकाधीन 
दायरे के साथ, कायŊ करता है। 
 

30- उȅर: (b) केवल 2 
˙ʼीकरण: 

कथन 1 - गलत: मौिलक कतŊʩो ंको बाद मŐ 42वŐ संिवधान 
संशोधन अिधिनयम, 1976 Ȫारा जोड़ा गया था, मूल संिवधान 
मŐ नही।ं 
कथन 2 - सही: मौिलक कतŊʩ Ůकृित मŐ गैर-Ɋायसंगत हœ, 
हालाँिक ये नागįरको ंके िलए एक अनु˝ारक के ŝप मŐ 
कायŊ करते हœ। 
 

31- उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: दोनो ंकथन सही हœ। आलवार (िवˁु के भƅ) 
और नयनार (िशव के भƅ) ने दिƗण मŐ भİƅ को लोकिŮय 
बनाया, जबिक उȅर भारत मŐ कबीर और गुŜ नानक जैसे 
संतो ंने समानता और िनराकार भİƅ पर ज़ोर िदया। 
 

32- उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: 
दोनो ंकथन सही हœ। माइटोकॉİȵŌ या कोिशका की ऊजाŊ मुūा, 
एटीपी का उȋादन करते हœ और इनमŐ Ůोकैįरयोट्स के 
समान वृȅाकार डीएनए और 70S राइबोसोम होते हœ, जो 
एंडोिसɾायोिटक िसȠांत का समथŊन करते हœ। 
 

33- उȅर: (a) केवल 1 
˙ʼीकरण: 
कथन 1 - सही: रामसर ̾थल अंतररा Ō̓ ीय ˑर पर महȕपूणŊ 
आūŊभूिम हœ जो पाįरİ̾थितकी, जल िवǒान और जैव िविवधता 
के िलए महȕपूणŊ हœ। 
कथन 2 - गलत: रामसर माɊता का अथŊ यूनेˋो िनयंũण 
नही ंहै; Ůबंधन रा Ō̓ ीय सरकारो ंके पास रहता है। 
 

34- उȅर: (a) केवल 1 
˙ʼीकरण: िवȅ आयोग का गठन अनुǅेद 280 के तहत हर 
पाँच साल मŐ िकया जाता है। हालाँिक, इसकी िसफ़ाįरशŐ 
सरकार पर बाȯकारी नही ंहœ, लेिकन इनका Ůभावकारी 
महȕ है। 
 

35- उȅर: (c) 1 और 2 दोनो ं
ʩाƥा: भİƅ आंदोलन ने कमŊकांडो ंऔर जाितगत बाधाओ ं
को ȑागते Šए ईʷर के Ůित ŮȑƗ समपŊण पर ज़ोर िदया। 
कबीर और गुŜ नानक जैसे सुधारको ंने एकता और समानता 
को बढ़ावा देने मŐ महȕपूणŊ भूिमका िनभाई। 
 

36- उȅर: (d) न तो 1 और न ही 2 

ʩाƥा: ITCZ भूमȯ रेखा के पास एक िनɻ दाब का Ɨेũ है 
जहाँ ʩापाįरक पवनŐ िमलती हœ। इसका मौसमी उȅर-दिƗण 
Ůवास मानसून Ůणािलयो ंके िलए महȕपूणŊ है। 
 

37- उȅर: (c) 1 और 2 दोनो ं
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ʩाƥा: राजकोषीय घाटा सरकार की उधारी आवʴकता 
को दशाŊता है। हालाँिक यह ʩय को सƗम बनाता है, लेिकन 
लगातार उǄ घाटा उधारी के बोझ और मुūा˛ीित का 
कारण बन सकता है। 
 

38- उȅर: (d) न तो 1 और न ही 2 

ʩाƥा: भारत के जैव िविवधता हॉट˙ॉट िहमालय, इंडो-
बमाŊ, संुदरलœड (िनकोबार Ȫीप समूह) और पिʮमी घाट हœ। वे 
̾थािनक Ůजाितयो ंसे समृȠ हœ। 
 

39- उȅर: (d) 
˙ʼीकरण: 
अिभकथन असȑ है Ɛोिंक DPSP गैर-Ɋायसंगत हœ, अथाŊत 
अदालतŐ उɎŐ लागू नही ंकर सकती हœ। कारण सȑ है Ɛोिंक 
ये Ůावधान सामािजक और आिथŊक Ɋाय Ůाɑ करने के िलए 
मागŊदशŊक िसȠांतो ंके ŝप मŐ कायŊ करते हœ, लेिकन कानूनी 
ŝप से बाȯकारी नही ंहœ। 
 

40- उȅर: a 
ʩाƥा: युवा सािहİȑक Ůितभा को माɊता देते Šए, युवा 
पुरˋार 2025 पावŊती कीितŊ को Ůदान िकया गया। 
 

41- उȅर: a 
ʩाƥा: गुजरात İ̾थत खावड़ा नवीकरणीय ऊजाŊ पाकŊ  सौर 
और पवन ऊजाŊ पर कŐ िūत दुिनया का सबसे बड़ा पाकŊ  
होगा। 
 

42- उȅर: b 

ʩाƥा: कलादान पįरयोजना कोलकाता बंदरगाह को नदी 
और सड़क मागŘ के माȯम से ʄांमार के िसȅवे बंदरगाह से 
जोड़ती है, िजससे भारत के पूवŖȅर से संपकŊ  बेहतर होता है। 
 

43- उȅर: (a) केवल 1 

ʩाƥा: कथन 1 सही है - फतेहपुर सीकरी अकबर की 
राजधानी थी और यह भारत-इˠामी संʶेषण को दशाŊती 
है। कथन 2 गलत है - ताजमहल का िनमाŊण शाहजहाँ ने 
मुमताज महल की ˝ृित मŐ करवाया था, न िक जहाँगीर ने। 
 

44- उȅर: (a) केवल 1 

˙ʼीकरण: 
कथन 1 सही है: रƅ समूह लाल रƅ कोिशकाओ ंपर A, B, 
AB, या O Ůितजनो ंपर आधाįरत होते हœ। कथन 2 गलत है: 
Rh कारक Ůितजन (D Ůितजन) की उपİ̾थित को दशाŊता है, 
Ůितिपंड की नही।ं 
 

45- उȅर: a 

ʩाƥा: िȪघात घाटे का अथŊ है राजकोषीय घाटा (सरकार 
का अिधक ʩय) और चालू खाता घाटा (आयात > िनयाŊत) 
का एक साथ होना। 
 

46- उȅर: a 
ʩाƥा: खानवा का युȠ (1527) बाबर और मेवाड़ के राणा 
साँगा के बीच लड़ा गया था, िजसने उȅर भारत मŐ मुगल 
शİƅ को मजबूत िकया। 

 
47- उȅर: b 

˙ʼीकरण: CBAM यूरोपीय संघ की एक पहल है जो 
कमज़ोर जलवायु नीितयो ंवाले देशो ंसे आयात पर काबŊन 
मूʞ लागू करती है, िजससे िन˃Ɨ Ůित˙धाŊ सुिनिʮत होती 
है। 
 

48- उȅर: (d) 
˙ʼीकरण: Ůˑावना संिवधान का िहˣा है, लेिकन यह मूल 
शİƅ का ŷोत नही ंहै; यह केवल मागŊदशŊक िसȠांत Ůदान 
करती है। अतः , अिभकथन असȑ है जबिक कारण सȑ है। 
 

49- उȅर: (a) केवल 1 
˙ʼीकरण: 
कथन 1 - सही: NAPCC मŐ रा Ō̓ ीय सौर िमशन, रा Ō̓ ीय जल 
िमशन और हįरत भारत िमशन जैसे िमशन शािमल हœ। 
कथन 2 - गलत: भारत का शुȠ-शूɊ लƙ 2070 है, 2040 
नही।ं 
 

50- उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: 
दोनो ंकथन सही हœ। डािवŊन ने Ůाकृितक चयन को िवकास 
की Ůेरक शİƅ के ŝप मŐ Ůˑािवत िकया था। डािवŊन से 
पहले, लैमाकŊ  ने उपािजŊत लƗणो ंकी वंशागित का सुझाव 
िदया था - हालाँिक बाद मŐ इसका खंडन िकया गया, लेिकन 
िवकासवादी िचंतन मŐ यह महȕपूणŊ था। 
 

51- उȅर: (c) 
ʩाƥा: दूध से Ţीम अलग करने के िलए अपकेȾण का 
उपयोग िकया जाता है। यह ŮिŢया घनȕ अंतर के िसȠांत 
पर काम करती है, जहाँ İ˙िनंग Ȫारा हʋे Ţीम को सघन 
दूध से Ůभावी ढंग से अलग िकया जाता है, िजसका उपयोग 
आमतौर पर डेयįरयो ंमŐ िकया जाता है। 
 

52- उȅर: (c) 
ʩाƥा: गैसोहोल 90% पेटŌ ोल और 10% इथेनॉल का िमŵण 
है, िजसका उपयोग ईंधन की खपत कम करने के िलए िकया 
जाता है। अʋोहल ऑƃेन संƥा बढ़ाता है, लेिकन लेड का 
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उपयोग नही ंिकया जाता है, िजससे कथन 3 गलत हो जाता 
है। 
 

53- उȅर: (b) 
ʩाƥा: भौितक पįरवतŊनो ंसे नए पदाथŊ नही ंबनते। पानी का 
जमना, चीनी का घुलना उǿमणीय पįरवतŊन हœ जहाँ कोई 
नया यौिगक नही ंबनता है, और दही से मƀन को अलग 
करने की ŮिŢया उǿमणीय नही ंहो सकती, इसिलए 
िवकʙ b सही है। 
 

54- उȅर: (b) 
ʩाƥा: ओजोन मुƥतः  समताप मंडल मŐ मौजूद है, 
Ɨोभमंडल मŐ नही,ं जहाँ यह पृțी को पराबœगनी िकरणो ंसे 
बचाती है। हालाँिक, ओजोन का उपयोग जल उपचार मŐ 
कीटाणुनाशक के ŝप मŐ िकया जाता है। 
 

55- उȅर: (d) ʩुǿमानुपाती 
ʩाƥा: डी Űोगली ने Ůितपािदत िकया िक गितमान कण 
तरंग-स̊श गुण ŮदिशŊत करते हœ। तरंगदैƽŊ (λ) h/p (ɘœक 
İ̾थरांक को संवेग से िवभािजत) Ȫारा िदया जाता है। चँूिक 
संवेग ūʩमान पर िनभŊर करता है, इसिलए ūʩमान बढ़ने 
पर तरंगदैƽŊ घटता है। 
 

56- उȅर: (c) समुūगुɑ 

ʩाƥा: समुūगुɑ ने उȅर और दिƗण भारत मŐ कई सफल 
अिभयानो ं के माȯम से गुɑ साŲाǛ का िवˑार िकया। 
उनकी उʟेखनीय िवजयो,ं Ůशासिनक कौशल और सैɊ 
शİƅ ने उɎŐ "भारत का नेपोिलयन" की उपािध िदलाई, जो 
उपमहाȪीपीय राजनीितक और Ɨेũीय िवˑार मŐ उनके 
Ůभुȕ को दशाŊता है। 
 

57- उȅर: (b) केवल 2 
˙ʼीकरण: 1923 मŐ ̾थािपत ˢराज पाटŎ का गठन रा Ō̓ वादी 
संघषŊ को बिहʺार से िवधान पįरषदो ं मŐ सिŢय भागीदारी 
की ओर मोड़ने के िलए िकया गया था। मोतीलाल नेहŝ और 
सी.आर. दास जैसे नेताओ ं ने िवधानसभाओ ंमŐ Ůवेश करके 
िŰिटश शासन की कमजोįरयो ं को उजागर करने और 
अɊायपूणŊ नीितयो ंमŐ बाधा डालने का Ůयास िकया। 
 

58- उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: चोलो ं ने मȯकालीन भारत की सबसे दुजőय 
नौसेनाओ ं मŐ से एक का िनमाŊण िकया, िजससे दिƗण-पूवŊ 
एिशया मŐ िवदेशी ʩापार और Ůभाव को बढ़ावा िमला। साथ 
ही, उनकी Ůशासिनक ʩव̾था ने उर सभाओ ंके माȯम से 
̾थानीय ˢशासन को ŮोȖािहत िकया, जो Ťाम ˑर पर 
िवकŐ ūीकरण और सामुदाियक भागीदारी को दशाŊता है। 

 
59- उȅर: (a) 

˙ʼीकरण: बाढ़ के दौरान निदयो ं के िनƗेपण से बाढ़ के 
मैदान बनते हœ। रेिगˑानो ं मŐ मशŝम चǥानŐ वायु अपरदन 
Ȫारा िनिमŊत होती हœ। िवसपŊ निदयो ंȪारा पाि Ŋ̫क अपरदन के 
पįरणामˢŝप बनते हœ। िहमोढ़ िहमनदो ं Ȫारा छोड़ी गई 
चǥानी चोिटयाँ हœ, जो समय के साथ भू̊ʴो ंको आकार देने 
वाली िविभɄ भू-आकृितक ŮिŢयाओ ंको दशाŊती हœ। 
 

60- उȅर: (b) केवल 2 

ʩाƥा: हड़ɔावािसयो ं के पास एक िलिप थी (िजसे आज 
तक पढ़ा नही ं जा सका है), इसिलए कथन 1 गलत है। 
िवशाल ˘ानागार अनुʿािनक और संभवतः  धािमŊक ˘ान का 
संकेत देता है (कथन 2 सही है)। 
 

61- सही उȅर: (b) केवल 2 
˙ʼीकरण: 
इƅा Ůणाली इʔुतिमश के शासनकाल मŐ सं̾थागत Šई थी, 
कुतुबुȞीन ऐबक Ȫारा नही,ं हालाँिक भूिम आवंटन पहले से 
मौजूद थे। दूसरी ओर, बलबन ने सेना पर िनयंũण मजबूत 
करने के उȞेʴ से एक अलग सैɊ िवभाग के ŝप मŐ 
दीवान-ए-अज़Ŋ की ̾थापना करके Ůशासन का पुनगŊठन 
िकया। 
 

62- सही उȅर: (d) 1-(b), 2-(c), 3-(a), 4-(घ) 
ʩाƥा: 
राजा राम मोहन राय ने 1828 मŐ सामािजक कुरीितयो ं के 
िवŜȠ और एकेʷरवाद के पƗ मŐ एक आंदोलन के ŝप मŐ 
Ű˦ समाज की नीवं रखी। ˢामी दयानंद सरˢती ने 1875 
मŐ वैिदक िसȠांतो ंकी ओर लौटने के आ˪ान के साथ आयŊ 
समाज की ̾थापना की। सुधारवादी िहंदू Ůथाओ ंको बढ़ावा 
देने के िलए आȏाराम पांडुरंग के नेतृȕ मŐ 1867 मŐ ŮाथŊना 
समाज अİˑȕ मŐ आया। सामािजक सुधार के िलए सबसे 
Ůारंिभक गुɑ सिमितयो ं मŐ से एक, परमहंस मंडली की 
̾थापना 1849 मŐ दुगाŊराम मंचाराम ने की थी। 
 

63- उȅर: (a) केवल 1 
ʩाƥा: कुिचपुड़ी की उȋिȅ आंŬ Ůदेश मŐ Šई (सही)। 
कथकली पारंपįरक ŝप से पुŜष-Ůधान नृȑ शैली है (कथन 
2 गलत)। 
 

64- उȅर: (d) न तो 1 और न ही 2 

˙ʼीकरण: WPI उȋादक/थोक ˑर पर मूʞ पįरवतŊनो ंको 
टŌ ैक करता है, जबिक CPI उपभोƅा ˑर पर मूʞ पįरवतŊनो ं
को मापता है। ये कथन पįरभाषाओ ंको उलट देते हœ। 
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65- उȅर: (b) केवल 2 
˙ʼीकरण: ˢणŊ िसंह सिमित ने करो ंका भुगतान करने के 
कतŊʩ को शािमल करने का सुझाव िदया था, लेिकन इसे 
मौिलक कतŊʩो ंकी अंितम सूची मŐ शािमल नही ंिकया गया। 
6 से 14 वषŊ के बǄो ं की िशƗा से संबंिधत 11वाँ मौिलक 
कतŊʩ, 2002 के 86वŐ संशोधन अिधिनयम Ȫारा जोड़ा गया 
था। 
 

66- सही उȅर: (d) िकसी ʩİƅ के जीवन या ˢतंũता से वंिचत 
करने की ŮिŢया िन˃Ɨ, Ɋायसंगत और उिचत होनी 
चािहए, जैसा िक मेनका गांधी िनणŊय मŐ ˙ʼ िकया गया है। 
ʩाƥा: 
ए.के. गोपालन बनाम मūास राǛ मामले (1950) मŐ, सवŖǄ 
Ɋायालय ने अनुǅेद 21 का सीिमत अथŊ अपनाया और कहा 
िक संसद Ȫारा बनाया गया कोई भी कानून ˢतंũता के हनन 
को उिचत ठहराने के िलए पयाŊɑ है। हालाँिक, मेनका गांधी 
बनाम भारत संघ (1978) मŐ, Ɋायालय ने इस ̊िʼकोण को 
बदल िदया और घोषणा की िक "कानून Ȫारा ̾थािपत 
ŮिŢया" मनमानी नही ंहो सकती; इसे िन˃Ɨता, तकŊ संगतता 
और Ɋाय की कसौटी पर खरा उतरना होगा। इस ʩाƥा ने 
भारतीय İ̾थित को िविध की उिचत ŮिŢया के अमेįरकी 
िसȠांत के करीब ला िदया। 

 
 

67- उȅर: (c) 1-(b), 2-(d), 3-(c), 4-(a) 
˙ʼीकरण: ˢǅ भारत िमशन 2014 मŐ शुŝ िकया गया 
था। बेटी बचाओ, बेटी पढ़ाओ योजना 2015 मŐ शुŝ की गई 
थी। अटल पŐशन योजना 2015 मŐ शुŝ की गई थी। जल 
जीवन िमशन 2019 मŐ शुŝ िकया गया था। 
 

68- सही उȅर: (d) 1, 2 और 3 
˙ʼीकरण: 
संिवधान का अनुǅेद 110 धन िवधेयक की पįरभाषा Ůदान 
करता है। यह िनिदŊʼ करता है िक एक िवधेयक को धन 
िवधेयक माना जाता है यिद वह िवशेष ŝप से कराधान, 
सरकारी उधार, भारत की संिचत िनिध से िहरासत या 
िनकासी, या इसी तरह के िवȅीय िवषयो ं जैसे मामलो ं से 
संबंिधत है। चँूिक तीनो ंकथन अनुǅेद 110 के दायरे मŐ आते 
हœ, इसिलए सही िवकʙ (d) है। 
 

69- सही उȅर: (a) A और R दोनो ंसही हœ, और R, A की सही 
ʩाƥा करता है। 
˙ʼीकरण: 
उȅरी गोलाधŊ मŐ िवʷ का अिधकांश भूभाग है, िजससे यह 
̾थलीय गोलाधŊ बनता है, जबिक दिƗणी गोलाधŊ मŐ जल की 
सतह Ůमुख है, िजससे इसे जलीय गोलाधŊ कहा जाता है। िदए 

गए आँकड़े—उȅर मŐ लगभग 61% ̾थलीय Ɨेũ और दिƗण 
मŐ 81% जल—सटीक हœ और शɨावली को सही ठहराते हœ। 
 

70- सही उȅर: (a) 1-(b), 2-(c), 3-(d), 4-(a) 
˙ʼीकरण: 
भारतीय रा Ō̓ ीय कांŤेस की ̾थापना 1885 मŐ ए.ओ. ह्यूम की 
पहल पर Šई थी। मुİˠम लीग 1906 मŐ ढाका मŐ अİˑȕ मŐ 
आई। एनी बेसŐट और बाल गंगाधर ितलक ने 1916 मŐ होम 
ŝल लीग आंदोलन शुŝ िकया। मोतीलाल नेहŝ और 
सी.आर. दास जैसे नेताओ ं ने 1923 मŐ िवधान पįरषदो ं के 
भीतर औपिनवेिशक नीितयो ं से लड़ने के िलए ˢराज पाटŎ 
का गठन िकया। 
 

71- उȅर: (a) केवल 1 
ʩाƥा: मौसमी घटनाएँ Ɨोभमंडल मŐ होती हœ (सही)। 
ओज़ोन परत समताप मंडल मŐ है, मȯमंडल मŐ नही ं (कथन 
2 गलत है)। 
 

72- सही उȅर: (b) 1-(b), 2-(d), 3-(a), 4-(c) 
˙ʼीकरण: 
थेʈ नदी बहती है लंदन, पेįरस से होकर सीन नदी, कािहरा 
से होकर नील नदी और रोम से होकर टाइबर नदी। इनमŐ से 
हर शहर ऐितहािसक ŝप से इɎी ं निदयो ं के िकनारे 
िवकिसत Šआ है, जो ʩापार, संˋृित और बसावट के िलए 
महȕपूणŊ जीवनरेखाएँ रही हœ। 
 

73- सही उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: 
Ůमİˑʺ मानव मİˑʺ का सबसे Ůमुख भाग है और 
िलखने, बोलने और िनणŊय लेने जैसी ˢैİǅक िŢयाओ ं का 
िनरीƗण करता है। दूसरी ओर, ŮितवतŎ िŢयाएँ एक ŮितवतŎ 
चाप के माȯम से संचािलत होती हœ, जो संवेदी और Ůेरक 
ɊूरॉɌ (कभी-कभी एक इंटरɊूरॉन के माȯम से) के बीच 
एक सीधा संबंध है, जो िकसी गमŊ सतह से हाथ हटाने जैसी 
तीŴ ŮितिŢयाओ ंको सुिनिʮत करता है। 
 

74- सही उȅर: (d) 1 और 2 दोनो ं
˙ʼीकरण: 
लाल रƅ कोिशकाएं हीमोƸोिबन की सहायता से फेफड़ो ंसे 
शरीर तक ऑƛीजन पŠँचाती हœ, िजससे वे कोिशकीय ʷसन 
के िलए आवʴक हो जाती हœ। लगभग 120 िदनो ंका उनका 
जीवनकाल समाɑ होने पर, वे पįरसंचरण से बाहर हो जाती 
हœ। ɘीहा (िजसे अƛर "लाल रƅ कोिशकाओ ं का 
किŰˑान" कहा जाता है), यकृत और अİ̾थ मǍा मŐ 
मैŢोफेज उɎŐ पचाते हœ, और नए कोिशका उȋादन के िलए 
लोहे जैसे उपयोगी घटको ंका पुनचŊŢण िकया जाता है। 
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75- उȅर: (c) 1 और 2 दोनो ं

˙ʼीकरण: दहन अिभिŢया ऑƛीजन के साथ तीŴ 
अिभिŢया Ȫारा पįरभािषत होती है, िजससे ऊजाŊ उȋɄ होती 
है। अपघटन अिभिŢया मŐ एक यौिगक सरल भागो ं मŐ टूट 
जाता है। दोनो ं कथन इस Ůकार की रासायिनक 
अिभिŢयाओ ंकी सटीक पįरभाषाएँ हœ। 
 

76- सही उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: 
उȅर Ůदेश की सीमा आठ राǛो ं से लगती है: उȅराखंड, 
िहमाचल Ůदेश, हįरयाणा, राज̾थान, मȯ Ůदेश, छȅीसगढ़, 
झारखंड और िबहार, साथ ही रा Ō̓ ीय राजधानी Ɨेũ िदʟी भी, 
िजससे यह भारत मŐ सबसे अिधक पड़ोसी राǛो ंसे िघरा है। 
2011 की जनगणना के अनुसार, राǛ के दिƗणी भाग मŐ 
İ̾थत लिलतपुर िजले का जनसंƥा घनȕ सबसे कम है, 
िजससे दोनो ंकथन सही हœ। 
 

77- सही उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: 
एका आंदोलन, िजसे एकता आंदोलन के नाम से भी जाना 
जाता है, 1921-22 मŐ अवध Ɨेũ मŐ Šआ था। यह ज़मीदंारो ं
और राजˢ संŤहकताŊओ ं के दमनकारी कायŘ के िवŜȠ 
िकसानो ंȪारा संचािलत था, जो अƛर दजŊ लगान से अिधक 
भुगतान की मांग करते थे। इस आंदोलन का उȞेʴ इन 
शोषणकारी Ůथाओ ं के िवŜȠ िकसानो ं को एकजुट करना 
था, िजससे दोनो ंकथन सही सािबत होते हœ। 
 

78- सही उȅर: (a) आथŊर जी. टैɌले 

˙ʼीकरण: 
पाįरİ̾थितकी तंũ शɨ िŰिटश पाįरİ̾थितकीिवद् आथŊर जी. 
टैɌले Ȫारा 1935 मŐ जीिवत जीवो ं(पौधे, जानवर, सूƘजीव) 
और उनके भौितक पयाŊवरण के बीच कायाŊȏक अंतः िŢया 
का वणŊन करने के िलए गढ़ा गया था। हालाँिक ई. पी. ओडम 
ने बाद मŐ पाįरİ̾थितक अȯयनो ंके िलए इस अवधारणा को 
और िवकिसत िकया, टैɌले इस शɨ के जनक थे। 
 

79- सही उȅर: (a) केवल 1 

˙ʼीकरण: 
10% ऊजाŊ ̾थानांतरण िनयम, िजसे िलंडमैन का िनयम भी 
कहा जाता है, Ůȑेक पोषी ˑर पर ऊजाŊ हािन का सटीक 
वणŊन करता है, जहाँ केवल लगभग 10% ऊजाŊ ही अगले 
ˑर तक जाती है। हालाँिक, िकसी पाįरİ̾थितकी तंũ मŐ 
सबसे अिधक ऊजाŊ उȋादक (पौधे) ˑर पर पाई जाती है, 
Ůाथिमक उपभोƅा ˑर पर नही,ं Ɛोिंक खाȨ ŵंृखला मŐ 
ऊजाŊ उȅरोȅर कम होती जाती है। 

 

80- सही उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: 
वेबर के औȨोिगक ̾थान के िसȠांत का उȞेʴ पįरवहन 
और ŵम ʩय को कम करके और उȨोगो ं के समूहन 
(समूहन) के लाभो ं का लाभ उठाकर िकसी उȨोग के िलए 
सबसे कुशल ̾थान की पहचान करना है। Ɋूनतम लागत 
वाले ̾थान को उस िबंदु के ŝप मŐ िनधाŊįरत िकया जाता है 
जहाँ कǄे माल और तैयार उȋादो ंकी कुल पįरवहन लागत 
Ɋूनतम हो जाती है, जो दोनो ंकथनो ंको सही सािबत करता 
है। 
 

81- सही उȅर: (d) 1, 2 और 3 
˙ʼीकरण: 
1. अरब सागर शाखा पिʮमी घाट से टकराती है और ऊँचाई 
के कारण, पवŊतीय उȈान के माȯम से भारी वषाŊ करती है। 
2. बंगाल की खाड़ी शाखा पूवŎ तट के साथ उȅर की ओर 
बढ़ती है और पिʮम की ओर मुड़ती है, िजससे उȅर और 
उȅर-पिʮम भारत मŐ वषाŊ होती है। 
3. लौटते मानसून (अƃूबर-नवंबर) के दौरान, बंगाल की 
खाड़ी के ऊपर चŢवाती अवदाब बनता है, िजससे दिƗण-
पूवŊ भारत और पूवŎ तट के कुछ िहˣो ंमŐ वषाŊ होती है। 
तीनो ं कथन भारतीय मानसून Ůणाली की गितशीलता का 
सटीक वणŊन करते हœ। 
 

82- सही उȅर: (d) कोई नही ं
˙ʼीकरण: 
Ůाſलन सिमित, सावŊजिनक उपŢम सिमित और लोक 
लेखा सिमित, ये सभी भारत की महȕपूणŊ संसदीय सिमितयाँ 
हœ। हालाँिक, इनमŐ से िकसी का भी संिवधान मŐ उʟेख नही ं
है। इनका गठन संसद के ŮिŢया िनयमो ं के तहत िकया 
जाता है और ये इसके िवधायी और िवȅीय िनरीƗण के भाग 
के ŝप मŐ कायŊ करती हœ, लेिकन इनकी ̾थापना वैधािनक है, 
संवैधािनक नही।ं 
 

83- सही उȅर: (d) केवल 1, 2 और 4 

˙ʼीकरण: 
राǛ के नीित िनदőशक िसȠांत राǛ को सहकारी सिमितयो ं
को बढ़ावा देने, कृिष और पशुपालन को संगिठत करने और 
कुटीर उȨोगो ं को समथŊन देने के िलए ŮोȖािहत करते हœ। 
सावŊजिनक संपिȅ की सुरƗा अनुǅेद 51A के अंतगŊत एक 
मौिलक कतŊʩ के ŝप मŐ शािमल है, लेिकन यह एक नीित 
िनदőशक िसȠांत नही ंहै। 
 

84- सही उȅर: 2. केवल 2 

˙ʼीकरण: 



 

 
 

23 
RACE 

IAS 
 

7388114444 

  ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR 
WEBSITE :www.raceias.com,  /raceiaslucknow 

E-mail ID : www.raceias.2010@gmail.com 

 
MOCK TEST 

EXPLANATIONS  
 

 

RACE 
IAS 

● कथन 1 गलत है: लाला लाजपत राय AITUC के पहले 
महासिचव नही ंथे। 
● कथन 2 सही है: 1922 के कांŤेस अिधवेशन ने AITUC के 
गठन का ˢागत िकया और इसकी गितिविधयो ं के समथŊन 
के िलए एक सिमित का गठन िकया। 
 

85- उȅर: (b) बœको ंमŐ कागज़ रिहत लेनदेन को ŮोȖािहत करना 
ʩाƥा: 
हįरत बœिकंग बœिकंग कायŘ के पयाŊवरणीय Ůभाव को कम 
करने पर कŐ िūत है। इसका एक Ůमुख पहलू िडिजटल और 
कागज़ रिहत लेनदेन को बढ़ावा देना है, जो कागज़ की खपत 
को कम करने, काबŊन फुटिŮंट को कम करने और बœिकंग 
को पयाŊवरणीय ŝप से अिधक िटकाऊ बनाने मŐ मदद 
करता है। 
 

86- उȅर: (a) उȋादन िविध 

ʩाƥा: 
● भारत मŐ कृिष आय की गणना के िलए उȋादन िविध का 
उपयोग िकया जाता है। यह एक वषŊ मŐ उȋािदत कृिष 
उȋादन (फसलो,ं पशुधन, आिद) के कुल मूʞ का अनुमान, 
बीज, उवŊरक और ŵम जैसे इनपुट की लागत को घटाकर 
लगाती है। 
● यह िविध रा Ō̓ ीय आय मŐ कृिष के योगदान को दशाŊती है 
और कृिष आय की पįरवतŊनशीलता तथा औपचाįरक 
अिभलेखो ंके अभाव के कारण इसे Ůाथिमकता दी जाती है। 
 

87- सही उȅर: (d) केवल 1 
˙ʼीकरण: 
● कथन 1: सही — अनुǅेद 244(1) के अंतगŊत, भारत के 
रा Ō̓ पित राǛ के राǛपाल के परामशŊ से िकसी भी Ɨेũ को 
अनुसूिचत Ɨेũ घोिषत कर सकते हœ। 
● कथन 2: गलत — जनजातीय सलाहकार पįरषद (TAC) 
केवल अनुसूिचत Ɨेũो ंवाले राǛो ंमŐ अिनवायŊ नही ंहै; यȨिप 
ऐसे राǛो ंमŐ टीएसी की ̾थापना की जाती है, संिवधान उनके 
गठन को केवल अनुसूिचत Ɨेũो ंतक ही सीिमत नही ंरखता 
है। 
अतः , सही उȅर (d) केवल 1 है। 
 

88- सही उȅर: (a) A-1, B-2, C-3, D-4 

˙ʼीकरण: 
● गांधार की राजधानी तƗिशला थी। 
● वȖ का कŐ ū कौशाɾी था। 
● मȘ की राजधानी िवराटनगर थी। 
● कुŜ का कŐ ū हİˑनापुर था। 
 

Ůाचीन भारत मŐ महाजनपद काल के दौरान ये Ůमुख 
राजनीितक कŐ ū थे, िजɎोनें Ůारंिभक नगरीकृत राǛो ं की 
नीवं रखी। 
 

89- सही उȅर: (b) केवल 2 
˙ʼीकरण: 
समूह 18 मŐ İ̾थत उǽृʼ गैसŐ अपने पूणŊ संयोजकता 
इलेƃŌ ॉन कोश के कारण रासायिनक ŝप से İ̾थर होती हœ 
और इसिलए शायद ही कभी यौिगक बनाती हœ। इसके 
िवपरीत, हैलोजन (समूह 17) अȑिधक अिभिŢयाशील और 
Ůबल िवद्युतऋणाȏक होते हœ, िजससे वे रासायिनक 
अिभिŢयाओ ंके दौरान इलेƃŌ ॉन Ůाɑ करने के िलए उȖुक 
होते हœ। 
 

90- उȅर: (b) केवल 2 और 3 

˙ʼीकरण: 
● कथन 1 गलत है: िहमालयी सी बकथॉनŊ लȞाख, ˙ीित 
और िहमाचल Ůदेश के कुछ िहˣो ंजैसे ठंडे, शुʺ Ɨेũो ंमŐ 
उगता है, उˁकिटबंधीय Ɨेũो ंमŐ नही।ं 
● कथन 2 सही है: यह सहजीवी जीवाणुओ ं के माȯम से 
वायुमंडलीय नाइटŌ ोजन को İ̾थर कर सकता है, िजससे िमǥी 
की उवŊरता बढ़ती है। 
● कथन 3 सही है: इसके फल और पȅे अȑिधक पौिʼक 
होते हœ, िजनमŐ िवटािमन सी और एंटीऑƛीडŐट होते हœ। 
 

91- उȅर: (c) पवŊतीय उȈान 

˙ʼीकरण: 
● बादल फटना तब होता है जब नम हवा पहाड़ो ंपर चढ़ने 
के िलए मजबूर हो जाती है, िजससे तेज़ी से संघनन होता है 
और थोड़े समय मŐ अȑिधक भारी वषाŊ होती है। 
● इस ŮिŢया को पवŊतीय उȈान के ŝप मŐ जाना जाता है, 
जहाँ पहाड़ आने वाली नम हवा को ऊपर उठाने वाले 
अवरोधो ं के ŝप मŐ कायŊ करते हœ, िजससे ̾थानीय Ɨेũो ं मŐ 
तीŴ वषाŊ होती है। 
 

92- उȅर: (a) केवल 1 
˙ʼीकरण: 
● कथन 1 सही है: LIC की ̾थापना 1956 मŐ 245 भारतीय 
और िवदेशी बीमा कंपिनयो ंऔर भिवˈ िनिध सिमितयो ं के 
िवलय से Šई थी। 
● कथन 2 गलत है: LIC भारत सरकार के िवȅ मंũालय के 
अधीन कायŊ करती है और इसका िनयमन भारतीय बीमा 
िनयामक एवं िवकास Ůािधकरण (IRDAI) Ȫारा िकया जाता 
है, न िक RBI Ȫारा। 
 

93- उȅर: (c) राधाकृˁन आयोग 
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˙ʼीकरण: 
● राधाकृˁन आयोग (1948-49) की ̾थापना भारत मŐ उǄ 
िशƗा के कामकाज की समीƗा के िलए की गई थी। 
● इसकी िसफाįरशो ं के आधार पर, भारत मŐ िवʷिवȨालय 
िशƗा के िवकास और समɋय की देखरेख के िलए 1956 मŐ 
िवʷिवȨालय अनुदान आयोग (UGC) की ̾थापना की गई 
थी। 
 

94- उȅर: (a) केवल 1 और 2 

˙ʼीकरण: चौथी पंचवषŎय योजना मŐ हįरत Ţांित लागू की 
गई और 14 Ůमुख भारतीय बœको ं का रा Ō̓ ीयकरण िकया 
गया। "गरीबी हटाओ" का नारा पाँचवी ंपंचवषŎय योजना का 
एक Ůमुख उȞेʴ था। 
 

95- सही उȅर: (a) केवल 1 

˙ʼीकरण: 
● कथन 1 सही है। िवनय िपटक, जो बौȠ धमŊŤंथ का एक 
भाग है, संघ मŐ िभƗुओ ं और िभƗुिणयो ं के िलए 
अनुशासनाȏक िनयम िनधाŊįरत करता है। 
● कथन 2 गलत है। िभƗुओ ं से अपेƗा की जाती है िक वे 
केवल जीिवका के िलए आवʴक भोजन की माũा ही 
ˢीकार करŐ , और इस पर Ůितबंध हœ िक वे Ɛा और िकतना 
खा सकते हœ, यहाँ तक िक िकसी सामाɊ ʩİƅ के िनवास 
पर भी िदए जाने पर। 
 

96- सही उȅर: (a) केवल 2 

˙ʼीकरण: 
● कथन 1 गलत है Ɛोिंक संवैधािनक संशोधन के िलए 
संसद की संयुƅ बैठक नही ं बुलाई जा सकती; संशोधन 
ŮिŢया सामाɊ कानून से अलग है। 
● कथन 2 सही है: एक संवैधािनक संशोधन िवधेयक संसद 
के िकसी भी सदन मŐ Ůˑुत िकया जा सकता है। 
● कथन 3 गलत है Ɛोिंक सामाɊ िवधेयको ं के िवपरीत, 
एक संवैधािनक संशोधन िवधेयक को Ůˑुत करने के िलए 
रा Ō̓ पित की पूवŊ िसफाįरश की आवʴकता नही ंहोती है। 
 

97- सही उȅर: (a) केवल 1 और 3 

˙ʼीकरण: 
1. माʕस ने तकŊ  िदया िक जनसंƥा चरघातांकी ŝप से 
(Ǜािमतीय Ţम मŐ) बढ़ती है, जबिक खाȨ उȋादन रैİखक 
ŝप से (अंकगिणतीय Ţम मŐ) बढ़ता है, िजससे अकाल का 
खतरा बढ़ जाता है। 
2. यह िसȠांत समाधान के ŝप मŐ तकनीकी नवाचारो ं पर 
ज़ोर नही ंदेता है; यह मानव िनिमŊत Ůगित पर िनभŊर होने के 
बजाय Ůाकृितक िनयंũणो ं (िनवारक और सकाराȏक) पर 
कŐ िūत है। 

3. जनसंƥा वृİȠ को कम करने के िलए माʕस ने देर से 
िववाह, नैितक संयम और पįरवार िनयोजन जैसे िनवारक 
उपायो ंकी वकालत की थी। 
 

98- सही उȅर: (a) मुƅ पासपोटŊ या शुʋ-मुƅ ʩापार 
˙ʼीकरण: 
'दˑक' शɨ िŰिटश ईː इंिडया कंपनी Ȫारा जारी एक 
िवशेष परिमट को संदिभŊत करता था जो कुछ ʩापाįरयो ंको 
सीमा शुʋ का भुगतान िकए िबना ʩापार करने की 
अनुमित देता था। इस िवशेषािधकार का मुƥ ŝप से 18वी ं
शताɨी के बंगाल मŐ उपयोग िकया जाता था, िजससे कंपनी 
को ʩापार पर एकािधकार िमल जाता था और ̾थानीय 
िनयमो ंको दरिकनार कर िदया जाता था। 
 

99- उȅर: (a) केवल 1 
˙ʼीकरण: 
● कथन 1 सही है: शा˓ीय अथŊशा˓ एडम İ˝थ, डेिवड 
įरकाडŖ और अɊ Ůारंिभक अथŊशाİ˓यो ंसे जुड़ा है। 
● कथन 2 गलत है: शा˓ीय िसȠांत अहˑƗेप ̊िʼकोण पर 
ज़ोर देता है, Ɋूनतम सरकारी हˑƗेप की वकालत करता है 
और मानता है िक बाज़ार काफी हद तक ˢ-िविनयिमत होते 
हœ। 
 

100- उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: 
● कथन 1 सही है: कीİɌयन िसȠांत समŤ माँग को आिथŊक 
गितिविध के Ůाथिमक चालक के ŝप मŐ, िवशेष ŝप से 
अʙाविध मŐ, कŐ िūत करता है। 
● कथन 2 सही है: यह आिथŊक मंदी को कम करने और 
उȋादन एवं रोज़गार को İ̾थर करने के िलए राजकोषीय 
उपायो ं(जैसे सरकारी खचŊ) और मौिūक साधनो ंका उपयोग 
करते Šए सिŢय सरकारी हˑƗेप की वकालत करता है। 
 

101- सही उȅर: (a) केवल 1 
˙ʼीकरण: 
● कथन 1 सही है: िदʟी मŐ Šमायँू का मकबरा भारत मŐ 
पहला Ůमुख फ़ारसी शैली का चारबाग (चार-भाग वाला) 
उȨान मकबरा है, िजसने बाद की मुगल वाˑुकला को 
Ůभािवत िकया। 
● कथन 2 गलत है: फतेहपुर सीकरी का िनमाŊण सŲाट 
अकबर ने करवाया था, शाहजहाँ ने नही।ं 
 

102- सही उȅर: (c) केवल 1 और 3 
˙ʼीकरण: 
1. सोन नदी अमरकंटक पठार (मȯ Ůदेश) से िनकलती है 
और पूवŎ उȅर Ůदेश मŐ िवंȯ Ɨेũ से होकर बहती है। 
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2. यह िबहार मŐ पटना के पास गंगा मŐ दायी ंतटवतŎ सहायक 
नदी के ŝप मŐ िमलती है। 
3. सोन घाटी Ɨेũ लैटेराइट िनƗेपो ं के िलए जाना जाता है, 
इसिलए कथन 3 सही है। 
अतः , कथन 1 और 3 सही हœ। 
 

103- सही उȅर: (a) रवीūंनाथ टैगोर 
˙ʼीकरण: 
असहयोग आंदोलन (1920-22) के दौरान, कई भारतीयो ं ने 
ˢदेशी अिभयान के तहत िवदेशी वˑुओ ं का बिहʺार 
िकया। रवीūंनाथ टैगोर ने िवदेशी व˓ो ंको जलाने की Ůथा 
का िवरोध िकया और तकŊ  िदया िक इस तरह की कारŊवाई 
अितवादी और अनावʴक थी, हालाँिक वे ˢदेशी उȨोगो ं
को बढ़ावा देने के ʩापक उȞेʴ के समथŊक थे। सूचीबȠ 
अɊ नेताओ ंने या तो आंदोलन मŐ अलग तरीके से भाग िलया 
या इस कृȑ का िवशेष ŝप से िवरोध नही ंिकया। 
 

104- उȅर: (c) तृतीय पंचवषŎय योजना 
˙ʼीकरण: तृतीय पंचवषŎय योजना को "गाडिगल योजना" 
के नाम से भी जाना जाता है, िजसका नाम तǽालीन योजना 
आयोग के उपाȯƗ डी.आर. गाडिगल के नाम पर रखा गया 
था। 
 

105- उȅर: (b) केवल 2 
˙ʼीकरण: 
● कथन 1 गलत है: एक अितचालक का Ůितरोध Ţांितक 
तापमान से नीचे शूɊ हो जाता है, उससे ऊपर नही।ं 
● कथन 2 सही है: मी˘र Ůभाव वह पįरघटना है जहाँ एक 
अितचालक अितचालक अव̾था मŐ Ůवेश करते समय अपने 
भीतर से चंुबकीय Ɨेũ िनʺािसत करता है, जो पूणŊ 
Ůितचंुबकȕ ŮदिशŊत करता है। 
 

106- उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: 
● कथन 1 सही है: सायनोबैƃीįरया बैƃीįरया की तरह 
Ůोकैįरयोिटक होते हœ, और अƛर उनके रंजकता और 
Ůकाश संʶेषक Ɨमता के कारण इɎŐ नीले-हरे शैवाल कहा 
जाता है। 
● कथन 2 सही है: ये ऑƛीजिनक Ůकाश संʶेषण करते 
हœ, ऑƛीजन का उȋादन करते हœ, और अƛर हेटेरोिसː 
नामक िवशेष कोिशकाओ ं का उपयोग करके वायुमंडलीय 
नाइटŌ ोजन को İ̾थर कर सकते हœ। 
 

107- उȅर: (c) 1 और 2 दोनो ं

˙ʼीकरण: İʬटेकर की Ůणाली के अनुसार, Ůोिटːा जगत 
मŐ सभी एककोिशकीय यूकेįरयोट्स शािमल हœ। वगŎकरण भी 
बताए गए मानदंडो ंपर आधाįरत था। 
 

108- सही उȅर: (a) यह जɉ और मृȑु के साथ-साथ Ůवासन को 
भी ȯान मŐ रखता है। 
ʩाƥा: 
Ůाकृितक वृİȠ दर, केवल जɉ और मृȑु के बीच के अंतर 
के आधार पर जनसंƥा पįरवतŊन को मापती है। हालाँिक, 
वाˑिवक वृİȠ दर मŐ Ůवासन (आंतįरक और बा˨ दोनो)ं के 
Ůभाव भी शािमल होते हœ, जो इसे जनसंƥा पįरवतŊन का 
एक अिधक ʩापक माप बनाता है। िवकʙ (b), (c), और 
(d) गलत हœ Ɛोिंक वे वाˑिवक वृİȠ दर की गणना के 
तरीके को या तो अित सरलीकृत करते हœ या गलत तरीके से 
Ůˑुत करते हœ। 
 

109- उȅर: (a) केवल 1 
˙ʼीकरण: कथन 1 अिथōग की ŮिŢया को सही ढंग से 
पįरभािषत करता है, िजसे Ťाउंिडंग भी कहा जाता है। अिथōग 
का उȞेʴ फॉʐ धाराओ ं को जमीन मŐ Ůवािहत करने के 
िलए एक कम Ůितरोध वाला मागŊ Ůदान करना है, जो 
उपकरण और संचालन किमŊयो ंदोनो ंको िबजली के झटके से 
बचाता है। 
 

110- उȅर: (a) केवल 1 
˙ʼीकरण: 
● कथन 1 सही है: आपदा Ůबंधन अिधिनयम, 2005 के तहत 
̾थािपत NDMA, भारत मŐ आपदा Ůबंधन की योजना, 
समɋय और कायाŊɋयन के िलए सवŖǄ वैधािनक 
Ůािधकरण है। 
● कथन 2 गलत है: भारत के Ůधानमंũी, गृह मंũी नही,ं 
NDMA के पदेन अȯƗ के ŝप मŐ कायŊ करते हœ। 
 

111- उȅर: (b) केवल 2 

˙ʼीकरण: 
● कथन 1 गलत है: रोबːा अिधक लचीला होता है और 
आमतौर पर कम ऊँचाई पर उगाया जाता है, जबिक 
अरेिबका नाज़ुक होता है और अिधक ऊँचाई पर उगना 
पसंद करता है। 
● कथन 2 सही है: रोबːा मŐ अरेिबका की तुलना मŐ अिधक 
कैफीन होता है, जो उनके ˢाद को मज़बूत बनाता है और 
कीटो ंके Ůित अिधक Ůितरोधक Ɨमता Ůदान करता है। 
 

112- सही उȅर: (b) केवल 1 
˙ʼीकरण: 
सही उȅर (b) केवल 1 है। 
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● कथन 1: सȑ - भाषाई अʙसंƥको ं के िलए िवशेष 
अिधकारी की िनयुİƅ भारत के रा Ō̓ पित Ȫारा अनुǅेद 
350B के तहत की जाती है। 
● कथन 2: असȑ - अिधकारी अपनी įरपोटŊ रा Ō̓ पित को 
Ůˑुत करता है, सीधे संसद को नही।ं 
● कथन 3: गलत — यह İ̾थित अनुǅेद 350B के अंतगŊत 
Ůदान की गई है, न िक अनुǅेद 351 (जो िहंदी के िवकास से 
संबंिधत है) के अंतगŊत। 
 

113- सही उȅर: (a) अबुल कलाम आज़ाद 

˙ʼीकरण: 
● िŢɛ िमशन (1942) मुƥ ŝप से िŰिटश युȠ Ůयासो ंके 
िलए समथŊन Ůाɑ करने हेतु भारतीय रा Ō̓ ीय कांŤेस के 
नेताओ ंके साथ िमलकर काम कर रहा था। 
● हालांिक अबुल कलाम आज़ाद एक वįरʿ कांŤेस नेता और 
िशƗािवद् थे, लेिकन उस समय कांŤेस अȯƗ नही ं थे, 
लेिकन उɎोनें िŢɛ िमशन और लॉडŊ वेवेल दोनो ं के साथ 
बातचीत की थी। 
● सी. राजगोपालाचारी अɊ वाताŊओ ं मŐ शािमल थे, लेिकन 
िŢɛ िमशन और लॉडŊ  वेवेल दोनो ंका िविशʼ संदभŊ अबुल 
कलाम आज़ाद से मेल खाता है। 
 

114- उȅर: (a) केवल 1 

˙ʼीकरण: 
● कथन 1 सही है: फ़कीर उʟा ख़ान शाहजहाँ के दरबार मŐ 
एक Ůमुख िचũकार थे और कारखाने (शाही कायŊशाला) के 
Ůमुख थे। 
● कथन 2 गलत है: शाहजहाँ के अधीन कला शैली अिधक 
औपचाįरक और शैलीबȠ हो गई, िजसमŐ अƛर जहाँगीर के 
Ůकृितवाद और चमकीले रंगो ंपर ज़ोर के िवपरीत, ठंडे रंगो ं
वाले आदशŊ िचũो ंपर ȯान कŐ िūत िकया जाता था। 
 

115- उȅर: (a) ŵावˑी 
˙ʼीकरण: 
● ŵावˑी िजले मŐ मिहला साƗरता दर उȅर Ůदेश मŐ सबसे 
कम 37.0% थी, जो िजले की समŤ कम साƗरता दर को भी 
दशाŊती है। 
● हालाँिक बहराइच, बलरामपुर और बदायंू मŐ साƗरता दर 
कम है, लेिकन इनमŐ से िकसी की भी रœ िकंग ŵावˑी से कम 
नही ंहै। 
 

116- उȅर: (a) केवल 1 

˙ʼीकरण: 
जमŊन िसʢर तांबा, िनकल और जˑा से बनी एक िमŵ धातु 
है। नाम के िवपरीत, इसमŐ वाˑिवक चांदी नही ं होती; यह 
नाम इसके चांदी-सफेद रंग के कारण पड़ा है। 

 
117- सही उȅर: (a) उŤवािदयो ंका एक गुɑ Ţांितकारी संगठन 

˙ʼीकरण: 
अिभनव भारत 20वी ं शताɨी के Ůारंभ मŐ िŰिटश 
औपिनवेिशक शासन से लड़ने के िलए भारतीय Ţांितकाįरयो ं
Ȫारा गिठत एक गुɑ समाज था। इसके सद˟ो ंका उȞेʴ 
भूिमगत गितिविधयो ंका आयोजन करना, Ţांितकारी िवचारो ं
को बढ़ावा देना और राजनीितक Ůितरोध की योजना बनाना 
था। यह कोई समाचार पũ, कोई जनजातीय आंदोलन या 
कोई उदारवादी राजनीितक अवधारणा नही ंथी। 
 

118- सही उȅर: (b) यह झांसी िजले मŐ बेतवा नदी पर बना है और 
िसंचाई तथा ताप िवद्युत दोनो ंŮदान करता है। 
ʩाƥा: 
पारीछा बाँध उȅर Ůदेश के झांसी िजले मŐ पारीछा के पास 
बेतवा नदी पर बना है। यह दोहरे उȞेʴ पूरा करता है: 
आसपास के बंुदेलखंड Ɨेũ मŐ िसंचाई के िलए पानी की 
आपूितŊ करना और पारीछा ताप िवद्युत कŐ ū को सहायता 
Ůदान करना। अɊ िवकʙ बाँध को िविभɄ निदयो,ं िजलो ंया 
उपयोगो ंसे गलत तरीके से जोड़ते हœ। 
 

119- उȅर: (b) 1576 

˙ʼीकरण: हʗीघाटी का युȠ 18 जून, 1576 को महाराणा 
Ůताप की सेना और आमेर के मान िसंह Ůथम के नेतृȕ वाली 
मुगल सेना के बीच लड़ा गया था। 
 

120- उȅर: (d) 1, 2 और 3 
˙ʼीकरण: 
● 91वŐ संशोधन का उȞेʴ बड़े मंिũमंडलो ंको कम करना 
और राजनीितक दलबदल पर अंकुश लगाना था। 
● यह कŐ ūीय और राǛ मंिũमंडलो ं को Ţमशः  लोकसभा 
और राǛ िवधानसभाओ ं की संƥा के 15% तक सीिमत 
करता है। 
● संशोधन ने दसवी ं अनुसूची के तहत "एक-ितहाई 
िवभाजन" Ůावधान को भी हटा िदया, जो पहले अयोƶता के 
िबना दलबदल की अनुमित देता था। 
 

121- उȅर: (b) 30 िदन 

˙ʼीकरण: 
130वाँ संशोधन िवधेयक, 2025 यह सुिनिʮत करता है िक 
गंभीर आपरािधक आरोपो ंका सामना कर रहे और लगातार 
30 िदनो ंतक िहरासत मŐ रहने वाले मंũी ˢतः  ही मंũी पद 
धारण करने के अयोƶ हो जाएँ। इस Ůावधान का उȞेʴ 
जवाबदेही को मज़बूत करना और सावŊजिनक पद की 
अखंडता बनाए रखना है। 
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122- उȅर: (बी) िवˁुŮयाग → नंदŮयाग → कणŊŮयाग → 
ŜūŮयाग → देवŮयाग 

˙ʼीकरण:  
अलकनंदा नदी अपनी Ůमुख सहायक निदयो ंसे पाँच पिवũ 
संगमो ंपर िमलती है, िजɎŐ सामूिहक ŝप से पंच Ůयाग कहा 
जाता है। नदी के Ůवाह का सही Ţम, ऊँचाई से नीचे की 
ओर, इस Ůकार है: 
● िवˁुŮयाग - धौलीगंगा से संगम 
● नंदŮयाग - नंदािकनी से संगम 
● कणŊŮयाग - िपंडर से संगम 
● ŜūŮयाग - मंदािकनी से संगम 
● देवŮयाग - भागीरथी से संगम, जहाँ से गंगा आिधकाįरक 
ŝप से आरंभ होती है। 
 

123- उȅर: (b) बैरन िपयरे डी कुबिटŊन 

˙ʼीकरण: 
ůांसीसी इितहासकार और िशƗक, बैरन िपयरे डी कुबिटŊन 
को आधुिनक ओलंिपक खेलो ंका सं̾थापक माना जाता है। 
उɎोनें 1896 मŐ ओलंिपक को पुनजŎिवत करने मŐ महȕपूणŊ 
भूिमका िनभाई और 1894 मŐ अंतराŊ Ō̓ ीय ओलंिपक सिमित 
(IOC) की ̾थापना की। 
 

124- सही उȅर: (c) A सȑ है, लेिकन R असȑ है। 
˙ʼीकरण: 
भारत मŐ मिलन बİˑयो ंके िवˑार के पीछे Ťामीण Ɨेũो ं से 
शहरी Ɨेũो ं मŐ Ůवास एक Ůमुख कारक है, Ɛोिंक कई 
Ůवासी रोजगार और बेहतर आजीिवका की तलाश मŐ शहरो ं
का Ŝख करते हœ। हालाँिक, शहरी Ɨेũ आमतौर पर पयाŊɑ 
िकफायती आवास उपलɩ नही ंकराते हœ; कम लागत वाले 
आवास की कमी ही मिलन बİˑयो ंके बढ़ने का मुƥ कारण 
है। इसिलए, जबिक अिभकथन सही है, िदया गया कारण 
असȑ है। 
 

125- उȅर: (c) 1 और 2 दोनो ं
˙ʼीकरण: 
● ːारिलंक LEO मŐ उपŤहो ंका एक समूह तैनात करता है, 
जो भूİ̾थर उपŤहो ंकी तुलना मŐ पृțी के बŠत करीब होते हœ, 
िजससे िसưल याũा समय मŐ उʟेखनीय कमी आती है। 
● यह िनकटता कम िवलंबता और तेज़ इंटरनेट गित Ůदान 
करती है, जो पारंपįरक भूİ̾थर उपŤह-आधाįरत इंटरनेट की 
सीमाओ ंको दूर करती है। 
 

126- उȅर: (d) बो˙ोरस जलडमŝमȯ 

ʩाƥा: बो˙ोरस जलडमŝमȯ काला सागर को मरमारा 
सागर से जोड़ता है। अɊ जलडमŝमȯ िविभɄ जल 
िनकायो ंको जोड़ते हœ: होमुŊज (फारस की खाड़ी → ओमान 

की खाड़ी), िजŰाʐर (भूमȯ सागर → अटलांिटक), मलſा 
(िहंद महासागर → दिƗण चीन सागर)। 
 

127- उȅर: (c) केवल 2 
ʩाƥा: 
● "िवली-िवली" शɨ पिʮमी ऑ Ōː ेिलया मŐ उˁकिटबंधीय 
चŢवातो ंके िलए Ůयुƅ होता है। 
● हįरकेन अटलांिटक और उȅर-पूवŊ Ůशांत मŐ आते हœ, 
पिʮमी Ůशांत मŐ नही।ं 
● टाइफून उȅर-पिʮम Ůशांत मŐ आते हœ, िहंद महासागर मŐ 
नही।ं 
● चŢवात िहंद महासागर और दिƗण Ůशांत मŐ Ůयुƅ होने 
वाला सामाɊ शɨ है, अटलांिटक मŐ नही।ं 
 

128- उȅर: (b) दिƗण-पिʮमी Ůशांत महासागर 
ʩाƥा: सोलोमन Ȫीप समूह दिƗण-पिʮमी Ůशांत 
महासागर मŐ, पापुआ Ɋू िगनी के पूवŊ मŐ İ̾थत है। 
 

129- उȅर: (a) 3 माचŊ 
ʩाƥा: संयुƅ रा Ō̓  वɊजीव संरƗण के महȕ के बारे मŐ 
जागŝकता बढ़ाने के िलए हर साल 3 माचŊ को िवʷ वɊजीव 
िदवस मनाता है। 
 

130- उȅर: (b) कृˁा - पेनगंगा 
ʩाƥा: पेनगंगा, कृˁा नदी की सहायक नदी नही ं है; यह 
वाˑव मŐ कुछ वगŎकरणो ंमŐ गोदावरी Ůणाली की सहायक 
नदी है, िजससे यह युƵ गलत हो जाता है। 
 

131- उȅर: (c) डोगरी 
ʩाƥा: लȞाख अंŤेजी, िहंदी, उदूŊ , भोटी और पुकŎ को 
अपनी आिधकाįरक भाषाओ ं के ŝप मŐ माɊता देता है, 
लेिकन डोगरी को आिधकाįरक दजाŊ नही ंिदया गया है। 
 

132- उȅर: (c) बृह˙ित के चंūमा यूरोपा का िवˑृत अȯयन 
करना 
ʩाƥा: यह िमशन बृह˙ित के चंūमाओ ंमŐ से एक, यूरोपा 
का िवˑृत अवलोकन करने, उसके िहम आवरण, उपसतह 
महासागर और संभािवत आवास Ɨमता का अȯयन करने 
के िलए िडज़ाइन िकया गया है। 
 

133- उȅर: (b) भारत मŐ िनिमŊत पहला 32-िबट माइŢोŮोसेसर 
ʩाƥा: िवŢम 3201 भारत मŐ िवकिसत पहला ˢदेशी 32-
िबट माइŢोŮोसेसर है। 
 

134- उȅर: (c) Ūː टेक इंिडया Ůाइवेट िलिमटेड 
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ʩाƥा: Ūː टेक इंिडया Ůाइवेट िलिमटेड, एक भारतीय 
ːाटŊअप, ने कुशीनगर मŐ इसरो के परीƗण के िलए मॉडल 
रॉकेट के ŮƗेपण मŐ सहयोग िकया। 
 

135- उȅर: (a) ˙ेसएƛ डŌ ैगन और फाʋन 9 
ʩाƥा: इस िमशन मŐ अमेįरका से फाʋन 9 रॉकेट के 
ऊपर ŮƗेिपत ˙ेसएƛ डŌ ैगन अंतįरƗ यान का उपयोग 
िकया गया था। 
 

136- उȅर: (c) कनाŊटक 

ʩाƥा: िडिजटल शासन और बुिनयादी ढाँचे मŐ भारतीय 
राǛो ं मŐ कनाŊटक सबसे आगे है, उसके बाद महारा Ō̓ , 
तेलंगाना और गुजरात का ̾थान है। 
 

137- उȅर: (b) 22% 

ʩाƥा: आयकर कुल सरकारी राजˢ का 22% योगदान 
देता है। 
 

138- उȅर: (c) ₹4000 करोड़ 

ʩाƥा: इस योजना का कुल बजट ₹4000 करोड़ है, िजसमŐ 
िवʷ बœक और राǛ सरकार से िवȅीय सहायता Ůाɑ है। 
 

139- उȅर: (c) 20% 

˙ʼीकरण: इन पदो ं पर सीधी भतŎ मŐ अिưवीरो ं को 20% 
आरƗण िदया जाता है। 
 

140- उȅर: (c) इंडोनेिशया 
˙ʼीकरण: इंडोनेिशया िŰƛ सद˟ बनने वाला पहला 
आिसयान देश है। 
 

141- उȅर: (a) ʄांमार मŐ भूकंप पीिड़तो ं को मानवीय और 
िचिकȖा सहायता Ůदान करना 
ʩाƥा: ʄांमार के सागाइंग Ɨेũ मŐ आए 7.7 तीŴता के 
भूकंप के बाद राहत और िचिकȖा सहायता Ůदान करने के 
िलए भारत सरकार Ȫारा 28 माचŊ 2025 को ऑपरेशन Ű˦ा 
शुŝ िकया गया था। 
 

142- उȅर: (c) 131वाँ 
ʩाƥा: िवʷ आिथŊक मंच Ȫारा 11 जून 2025 को जारी 
वैिʷक लœिगक अंतर įरपोटŊ 2025 मŐ आइसलœड को Ůथम, 
िफ़नलœड को िȪतीय और भारत को 131वाँ ̾थान िदया गया 
है। भारत के उप-सूचकांक रœक इस Ůकार हœ: आिथŊक 
भागीदारी और राजनीितक सशİƅकरण (144वाँ), शैिƗक 
उपलİɩ (110वाँ), ˢा˖ और जीवन रƗा (143वाँ), और 
राजनीितक सशİƅकरण (69वाँ)। 
 

143- उȅर: (b) 41वाँ 
ʩाƥा: जून 2025 मŐ जारी आईएमडी िवʷ Ůित˙धाŊȏकता 
रœ िकंग 2025 मŐ 69 अथŊʩव̾थाओ ं मŐ İˢट्जरलœड को 
पहला, िसंगापुर को दूसरा और भारत को 41वाँ ̾थान िदया 
गया है। वेनेजुएला अंितम ̾थान पर रहा। 
 

144- सही उȅर है (b) केवल 1 और 3। 
ʩाƥा 
कथन 1 सही है: आइज़ोल पहली बार रा Ō̓ ीय रेल नेटवकŊ  से 
जुड़ा, िजसके िलए सीआरएस की मंज़ूरी जून 2025 मŐ Ůाɑ 
Šई। 
कथन 2 गलत है: हालाँिक आइज़ोल जुड़ने वाली चौथी 
पूवŖȅर राजधानी है, लेिकन पहले से जुड़ी राजधािनयाँ 
िदसपुर (असम), अगरतला (िũपुरा) और ईटानगर 
(अŜणाचल Ůदेश) हœ—िशलांग (मेघालय) नही।ं 
कथन 3 सही है: बैराबी-सैरांग लाइन लगभग 51.38 
िकलोमीटर लंबी है और इसमŐ ʩापक इंजीिनयįरंग कायŊ—
कई सुरंगŐ और पुल—शािमल हœ। 
 

145- उȅर: (b) हैदराबाद 

ʩाƥा: गूगल ने एिशया-Ůशांत Ɨेũ मŐ अपना पहला सुरƗा 
इंजीिनयįरंग कŐ ū हैदराबाद मŐ ̾थािपत िकया है, जो साइबर 
सुरƗा, ख़तरा िवʶेषण और अपने उȋादो ं एवं सेवाओ ं के 
िलए इंजीिनयįरंग समाधानो ंपर कŐ िūत है। 
 

146- सही उȅर: (b) अंतराŊ Ō̓ ीय मिहला िकसान वषŊ 
ʩाƥा: 
संयुƅ रा Ō̓  महासभा ने आिधकाįरक तौर पर 2026 को 
अंतराŊ Ō̓ ीय मिहला िकसान वषŊ घोिषत िकया है। इस पहल का 
उȞेʴ कृिष मŐ मिहलाओ ंकी महȕपूणŊ भूिमका को माɊता 
देना और यह सुिनिʮत करना है िक कृिष Ɨेũ मŐ संसाधनो,ं 
अवसरो ंऔर िनणŊय लेने की ŮिŢया तक उनकी समान पŠँच 
हो। यह वषŊ खाȨ सुरƗा, सतत कृिष और Ťामीण िवकास मŐ 
मिहलाओ ंके योगदान को बढ़ावा देने के िलए समिपŊत है। 
 

147- उȅर d 

˙ʼीकरण 
कथन 1 सही है: लखनऊ को वाˑव मŐ भारत सरकार Ȫारा 
यूनेˋो के िŢएिटव िसटीज़ नेटवकŊ  मŐ "गै Ōː ोनॉमी का शहर" 
ŵेणी मŐ शािमल करने के िलए आिधकाįरक ŝप से नािमत 
िकया गया है। 
कथन 2 गलत है: हैदराबाद पहला भारतीय शहर है िजसे 
2019 मŐ "गै Ōː ोनॉमी का शहर" का दजाŊ िमला है, लखनऊ 
को 2025 मŐ नामांिकत िकया गया है। 
कथन 3 सही है: यह नामांकन लखनऊ के समृȠ अवधी 
ʩंजनो ं पर Ůकाश डालता है, जो टंुडे कबाब, िबरयानी, 
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खˑा, जलेबी और इसकी पाक िवरासत को दशाŊने वाले 
अɊ िविशʼ ʩंजनो ंके िलए िवशेष ŝप से ŮिसȠ है। 
अतः , सही उȅर केवल (A) 1 और 3 है। 
 

148- उȅर: (d) उपरोƅ मŐ से कोई नही ं
˙ʼीकरण: 
इंिडया जİːस įरपोटŊ 2025 के अनुसार िदए गए सभी कथन 
सटीक हœ: 
1. यह įरपोटŊ वाˑव मŐ टाटा टŌ ː्स Ȫारा जारी की गई थी। 
2. भारत मŐ पुिलस-जनसंƥा अनुपात Ůित 100,000 
ʩİƅयो ंपर 155 है, जो ˢीकृत संƥा 197 से कम है। 
3. भारत मŐ कुल पुिलस अिधकाįरयो ंमŐ मिहलाओ ंकी संƥा 
8% है, िजनमŐ से अिधकांश जूिनयर कॉɍेबुलरी पदो ं पर 
कायŊरत हœ। 
अतः , कोई भी कथन गलत नही ंहै। 
 

149- सही उȅर: (c) 6.5% 

˙ʼीकरण: 
भारतीय įरज़वŊ बœक (RBI) ने िवȅ वषŊ 2025-26 के िलए 
अपने सकल घरेलू उȋाद वृİȠ पूवाŊनुमान को 6.5% पर 
बनाए रखा है। यह अनुमान भारतीय अथŊʩव̾था की 
लचीलापन Ɨमता मŐ कŐ ūीय बœक के िवʷास को दशाŊता है, 
िजसे मज़बूत Ťामीण माँग, बड़े पैमाने पर बुिनयादी ढाँचा 
पįरयोजनाओ ं पर िनरंतर सरकारी ʩय और अनुकूल 
मानसून जैसे कारको ंका समथŊन Ůाɑ है। ʩापार तनाव और 
भू-राजनीितक चुनौितयो ं सिहत वैिʷक अिनिʮतताओ ं के 
बावजूद, आरबीआई का ̊िʼकोण आगामी िवȅीय वषŊ के 
िलए एक İ̾थर आिथŊक ŮƗेपवŢ का संकेत देता है। 
 

150- सही उȅर: (b) ũाल वɊजीव अभयारǻ 

˙ʼीकरण: 
जʃू और कʳीर के ũाल वɊजीव अभयारǻ को इसकी 
समृȠ जैव िविवधता और वɊजीवो ं की रƗा के िलए एक 
संवेदनशील Ɨेũ घोिषत िकया गया है। इस उपाय का उȞेʴ 
Ůाकृितक आवास का संरƗण करना और मानवीय हˑƗेप 
और पयाŊवरणीय खतरो ं से ̾थानीय Ůजाितयो ं की सुरƗा 
सुिनिʮत करना है। 
 
 
 
 

 


